| ACI9_EN |

STATIONARY WORKHOLUING

Additional Catalogue

G
FAUTOBLOK C wwwombspait






LC

Modular clamping equipment

CAM SYSTEM

Eccentric self-locking clamping devices

FORM HOLDING CLAMPS

For holding on external / internal form

FAST-CLAMPS

TOUCHDEX

Automatic mechanical indexing tables




LC

Modular clamping equipment




LC

Modular clamping equipment

Page 3.2.3

o, = LC
(//;—\\)\. Accessories for clamping equipment

£ <

Page 3.24

LC

Modular clamping equipment

LC

Spare parts for clamping equipment

OMLI3.2.1




LOW
COST

The new LC VISE joins the original OML TC and MC VISES
as “low cost” solution.

3.2.2 |OML




Clamping equipment

Clamping equipment LC complete with: wrench, rigid slide way (floating slide-way at request for raw workpiece), work stop, pair of
positioning keys h6, cover for protection of the screw, 4 clamps, cardboard box.

| | |
o []m B [° °%° °

O 0o ‘

s ;] I::=é=l:| H‘ ;{

+
il enr oH ] Tonr

M

Cod. type

‘B C|D|E|F G‘H I‘J‘LMOSweight

mm mm mm mm mm mm mm mm mm

mm [ mm | mm [mm| kg

77589501 LC125x150( 150 40 80 111 | 100 | 100 16 85 | 410 | 125 | 345 | 95 (77,9|40| 13

775896 01 LC 150 x 200 | 200 50 100 | 1225 100 | 100 | 16 | 125 | 500 | 150 | 420 (125|89,4|50| 26
775896 02 LC150Xx 300 | 300 50 100 | 122,5| 100 | 100 16 | 125 | 600 | 150 | 520 |125(89,4|50| 29
77589701 LC 200 Xx 300 | 300 65 135 | 145 | 100 | 100 16 (125 | 680 | 200 | 595 (170|113 (70| 69
77589702 LC 200 x 400 | 400 65 135 | 145 | 100 | 100 16 [ 125 | 780 | 200 | 695 (170|113 (70| 74

OMLI323




Accessories for clamping equipment

Swivel base for clamping equipment LC

cod. for type

77 58 95 50 LC 125
77 58 96 50 LC 150
77 58 97 50 LC 200

LC extension element
with pair of positioning keys (at customer's choice)

O

Cod. for type
589517 00 LC 125 40 40 16 8,5 160 95 40
58 96 17 00 LC 150 40 50 16 13 230 125 50
58 9717 00 LC 200 50 100 16 17 300 170 70

3.2.4 |OML




Accessories for clamping equipment

Complete extension element LC
with pair of positioning keys (at customer's choice)

o
B Fhzm=o=os bz
,,,,, ‘ﬂzj,,,,,,%,,,,,,‘_g,,,,,
E GH7
L
cod. for type Wekight
58 95 71 20 LC 125 40 80 125 | 160 10 40 6,3
58 96 71 20 LC 150 50 100 | 150 | 230 50 50 | 14,2
58977120 LC 200 65 135 200 300 70 100 35,0
Base wiyh fixed support LC
with pair of positioning keys (at customer's choice)
J
| \ |
!
O | O
|
!
‘ wn
M
'J_l_t|

cod. for type Weight

kg
58 95 70 20 LC 125
58 96 70 20 LC 150
5897 70 20 LC 200

OMLI3.25




Accessories for clamping equipment

Base with double fixed support - LC

with pair of positioning keys (at customer’s choice)

Cod. for type

58 9570 60 LC 125
58 96 70 60 LC 150
58 97 70 60 LC 200

84,8 6,0
1018 | 133
132,8 | 300

Middle jaw LC

fl
N

=B g« e
= == [
1——l )
z 0 =

N - A
mm mm mm mm
58954110 LC 125 121 38 33 30
58 96 41 10 LC 150 146 48 43 30

58974110 LC 200 196 68 53 30

Floating movable support with jaw LC

e -

58 95 73 50 LC 125
58 96 73 50 LC 150
5897 73 50 LC 200

3.2.6 |OML




Accessories for clamping equipment

Pair of smooth jaws LC

58 95 04 09 LC 125
58 96 04 09 LC 150
5897 04 09 LC 200

Pair of serrated jaws LC

58 9544 29 LC 125
58 96 44 29 LC 150
5897 44 29 LC 200

Insert for vertical use

58 95 33 00 LC 125
58 96 33 00 LC 150
5897 33 00 LC 200

Set of 6 pairs of parallels (no clak) LC

7
//f
/é

cod. for type

58 96 92 06 LC150 25-30-35-40-45-47 150 8
58 97 92 06 LC 200 40-45-50-55-60-62 200 8 0,009 | 0,005

OMLI3.2.7




Spare parts for clamping equipment

| Pos_| ______ Descripion | Quantity | Pos.| ______ Description | Quantity
21

Clamping screw 10  |Workstop
20  |Positioning ball 9  |Screw STEI
19  |Block for clamping screw 8 |Label
18 |Cardboard box 7  |Screw STEI
17  |Guided movable support 6 |Spring
16 |Screw TCEI 5 |Grooved jaw
15 |Screw TCEI 4 Screw STEI
14 |Positioning key 3 |Screw STEI
13 |Wrench 2 |Fixed support
12 |Set 4 clamps 1 Base
11 |Cover for protection of the screw

3.2.8 |OML




Spare parts for clamping equipment _

Pair of grooved jaws

58954419 LC125
58 96 44 19 LC 150
58974419 LC 200

Fixed support with jaw

58957210 LC125
5896 7210 LC150
58977210 LC 200

Guided support with jaw

58 9573 60 LC125
58 96 73 60 LC 150
5897 73 60 LC 200

Wrench

58951900 LC125
5896 19 00 LC 150
58971900 LC 200

Complete clamping block

58957410 LC125
5896 7410 LC 150
58977410 LC 200

Block for clamping screw

58951210 LC125
58961210 LC 150
58971210 LC 200

OMLI3.2.9




Spare parts for clamping equipment

Clamping screw

58950810 LC125
58 96 0810 LC 150
58970810 LC 200

Positioning ball

58 951000 LC125
58 96 10 00 LC 150
58971000 LC 200

Pair of positioning keys

cod. Thé for type

58 96 13 92 16/12
58 96 13 93 16/14
58 96 13 94 16/16
58 96 13 95 16/18 LC125-LC150-LC 200
58 96 13 96 16/20
58 96 13 97 16/22
Work stop

58 95 50 00 LC125
58 96 50 00 LC 150
58 97 50 00 LC 200

Cover for protection of the screw

58952810 LC125
58 96 2810 LC 150
58972810 LC 200

Set of 2 pairs of clamps

58 95 27 09 LC125
58 96 27 09 LC 150
5897 27 09 LC 200

3.2.10 | OML



CAM SYSTEM

Eccentric self-locking clamping device

= Set < Set

CAM SYSTEM "t“ ¢ & CAM SYSTEM "s”
Eccentric self-locking clamping device ' - Eccentric self-locking clamping device
,,;,‘j
" 4
Page 7.3 Page 7.6
CAM SYSTEM "t" CAM SYSTEM “s”

;‘-_-%- . - . .
&’ E ' Eccentric self-locking clamping device (@ Eccentric self-locking clamping device

CAM SYSTEM "g”

({3 . Eccentric self-locking clamping device
\k /

Page 7.5

OMLI7.1



CAM SYSTEM

Eccentric self-locking clamping device

The CAM SYSTEM has been
developed and patented to easily
clamp workpieces with varied forms.
This compact product enables double
locking (Axial and Radial) using the
eccentric and propeller principle.
With a rotation of approximately 15°,
contact is made with the workpiece
with the complete clamping face of
the CAM.

The CAM SYSTEM clamps the
workpiece with a clamping force of
4,000 kg (t) and 2,000 kg (s).

CAM SYSTEM is supplied with both
cap heads bolts and T-nuts to suit the
particular machine tool cross slots.
CAM SYSTEM “g” is supplied singly,
to the customer detailed grid
specification.

deplacement 3 mm (t)
deplacement 4 mm (s) ~

%7 \lh7§

L

I

!

\

;

\
_

\

!

%

T

= — LS L e

20 b SRRl
17/ B0 < O R
Va -
deplacement 3 mm (g) ‘
NN :
*\7\ N
LK/Z% NN §>f

=
-
I

7.2 | OML



Eccentric self-locking clamping device CAM SYSTEM "t"

Set

Set CAM SYSTEM “t” complete with:
N. 4 CAM SYSTEM “t”

N. 4 fixed block CAM SYSTEM ‘t’

N. 8 pair of T-nuts with screw

N. 1 key for CAM SYSTEM 't’
wooden packing case

T

77 58 4414 14
|1 77 58 44 16 16
77 58 4418 18
77 58 44 20 20
77 58 44 22 2

(i

- 1

2

3

i

5

Description

07 e, Screw | 03, ., Eccentric element | 05........cocoiiiiiiiice T-nuts
02, Cental element | 04............c.cccovvvennn, Clamping element | 06...........ccoooviviiiiiiviiieiin. Fixed block

OMLI73




CAM SYSTEM "t | Eccentric self-locking clamping device

CAM SYSTEM “t”
single

Cod.
58445010

Fixed block
CAM SYSTEM "t"

Cod.
58 44 04 00

Key for
CAM SYSTEM "t”

Cod.
5844 08 00

Pair of T-nuts
with screw
CAM SYSTEM “t"

, T
N

Cod. rr.1lr.n
m 58 44 25 93 14
58 44 25 94 16
58 44 25 95 18
58 44 25 96 20
58 44 25 97 2

7.4 | OML




Eccentric self-locking clamping device CAM SYSTEM ugu

CAM SYSTEM “g”
single

Cod.
584450 20

Fixed block
CAM SYSTEM “g”

dimensions A,B,|
must be
specified when
ordering

Cod.
58441400

Description
0T e Screw | 03 Eccentric element | 05........c.ccoiiviiiiiieeee e Fixed block
02, central element | 04, Clamping element

OMLI7.5




CAM SYSTEM "s" | Eccentric self-locking clamping device

Set

‘ o« Set Cam SYSTEM “s” complete with:
L2 N. 4 CAM SYSTEM “s”
N. 4 fixed block CAM SYSTEM “s”
o : N. 6 pair of T-nuts with screw
_* N. 1 Key for CAM SYSTEM “s”
<2 wooden packing case

‘ ‘ 77 58 4314 14
]
7758 4316 16
77 58 4318 18
77 58 43 20 20
77 58 43 22 2
| @
1 i 1)
~—
TE=E
= &=
= =
- =
= = 1
2 = &
-

4
| |
|
<)
= 5
Description
07, Screw [ 03, Clamping element | 05........ccooiiiiiiiii e TT-nuts
02, Eccentric element | 04.............c.ocooooviiiiiiiie Central element [ 06..............cccoovoiiiiiiiiiiee Fixed block

7.6 | OML




Eccentric self-locking clamping device CAM SYSTEM "s"

25/1%3 CAM SYSTEM “s"”
single

Cod.
58 43 50 00

Fixed block
CAM SYSTEM “s”

Cod.
5843 04 00

Key for
CAM SYSTEM “s”

Cod.
58 43 08 00

Pair of T-nuts
with screw
CAM SYSTEM “s"”

‘ T
]
m 58 43 25 93 14
58 43 25 94 16
58 43 25 95 18
58 43 25 96 20
58 43 25 97 22

OMLI7.7




CAM SYSTEM Eccentric self-locking clamping device

Kg x 1.000
7

6,5

vertical farce|t

6 .
55

; Pl
45 /

N

/ vertical force s

B\

S
e

L

T T
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36
(Kgm)

\
%/
o oo ol@|o o 0 o

O 0|60 O O0]O
o o0|®|/o o ol|l®

— 0 O0O——0 O —1
=@ — ko=
=@ — ko=

7.8 | OML




FORM HOLDING CLAMPS

For holding on external/internal form

p— FORM HOLDING 2 MOUNTING-ON-LATHE
{-i:j-}' CLAMPS @ ADAPTERS

JAWS

. for external Form Holding

8.11
Page 8.6 Page 8.12
8.14

FORM HOLDING
CLAMPS

Wedge Style/Round

FORM HOLDING
CLAMPS

Wedge Style/Square

% for internal Form Holding
|

- TAPERED SCREWS

' For internal Form Holding

Page 8.8

e




FORM HOLDING CLAMPS

For holding on external/internal form

For holding on external / internal form!

Form Holding Clamps that have a machinable jaw to
hold irregular-shapecd workpieces.




FORM HOLDING CLAMPS

For holding on external/internal form

Two optional jaws clamping workpieces both on its external form
and internal form.

For external form holding For internal form holding

Prepare
the jaw

Machine
the jaw

Mount
a workpiece

LS hnaer




Form Holding Clamps

Body Pull Cylinder Cam Cylinder

S45C Steel SCM415 Steel SCM435 Steel
Electroless nickel plated | Carburized-hardened | Quenched & tempered
Black oxide finish Black oxide finish

Note: Jaws must be ordered separately

2-Round Locating Pins
(for jaw locating)

% Key Point
Can hold |
on external/internal form. £ /L0

Across Flats W

H2
3\
i%
o
]
|
tey-
1
i i
1 e
H—r =
A
T

>4
H1

2-Holes for diamond pin

Q
&
3
(@]
=S
=
o
&7
=l

Part Number P
(+0.01) (+0.02)
51992224 65 35 28 12 M6 27 42 22 8 12 M 8x1.25
51992225 90 40 42 14 M8 30 60 30 8 14 M10x1.5
51992226 120 45 55 18 M10 33 80 43 10 16 M10x1.5
51992227 160 50 63 24 M12 36 110 60 10 18 M12x1.75
For external Form Holding For internal Form Holding
Part Number Allowable Screw Torque Weight JPart Number Clamping Clamping JPart Number Clamping Clamping
()] Force (kN)  Stroke Force (kN)  Stroke
51992224 15 0,8 51992228 45 20.3 51992232 45 20.3
51992225 25 1,7 51992229 7 20.3 51992233 7 20.3
51992226 40 35 51992230 10 20.3 51992234 10 20.3
51992227 40 71 51992231 12 20.3 51992235 10 20.3
[
* Part locating repeatability: +0.03 Do not actuate clamping without a workpiece to avoid damage and
* Jaw locating repeatability: +0.02 deformation. Tightening with torque greater than the allowable screw

torque will lower the durability of the jaw.

+ 51992224: 1 pc. of Diamond Locating Pin + 51992228/...29/...30/...31: Jaws for External Form Holding
+ 51992225: 1 pc. of Diamond Locating Pin + 51992232/...33/...34/...35:
« 51992226: 1 pc. of Diamond Locating Pin Jaws for Internal Form Holding

+ 51992227: 1 pc. of Diamond Locating Pin

8.4 | OML




Form Holding Clamps

Features:

Two optional jaws allow clamping a workpiece
both on its external form and internal form.

TAPERED SCREW FOR INTERNAL FORM HOLDING
(CP127-B)

JAW FOR EXTERNAL FORM HOLDING
(CP126)

JAW FOR INTERNAL FORM HOLDING
(CP 127)

FORM HOLDING CLAMP
(CP 125)

How to use:

Mounting-Hole Dimensions
4-M2

= L ow \&
f ’ Part ch Lf d2 LFfi P M:2
Dp1_— /@/ Number H7 G7 +0.02
S~ | _

51992224 28 13 6 6 22 | M 6x1 42
d 51992225 42 15 8 8 30 |M 8x1.25| 60
do 51992226 55 19 10 11 43 | M10x1.5 80
| '+‘ 51992227 63 25 12 13 60 |M12x1.75| 110
h N v
’ 7, 5
]
P+

Installation Instructions
Insert an included diamond pin into the body for
Hex-Socket Head Cap Screw locating and secure the body to the fixture plate with
4 socket-head cap screws.
Note: Use either of the holes for diamond locating
pin for your application.

M Dimensions of Diamond Locating Pin
!
|

< Part Number Diameter

i 51992224 0 6h6
- E B 51992225 o 8h6
Diamond 51992226 | ¢ 10h6
Locating Pin
incded 51992227 |0 12h6




JAWS for external Form Holding

Jaw Locking Ring
Aluminum (A7075) Steel (S45C)
Blue Black oxide finish

M1
=
== f

Locking Ring

(Machinable Depth)

| _
IT L IS L

M-For Hex Socket Button Head Screw i 2-Locating Holes

Part Number Proper
Clamps

51992228 65 21 25 10 | M 8x20L Across Flats5 29 | M5x0.8 20 4 0.2 51992224
51992229 90 25 35 15 |M10x20L Across Flats6 40 M6x1 24 5 0.5 51992225
51992230 120 25 40 20 |M10x25L Across Flats6 46 M6x1 24 5 11 51992226
51992231 160 29 45 25 |M12x25L Across Flats8 52 |M8x1.25 28 6 2.2 51992227

1 pc. of O-ring
« 1 pc. of Locking Ring » The diaphram clamping mechanism allows securely
- 1 pc. of Hex Socket Button Head Screw clamping a part with 8 jaw sections.

« 0.15mm clamping stroke of each jaw section is perfect for
clamping of lost-wax parts, die-cast parts, extruded parts,
solid-drawn parts, prefinished parts, etc.

Unclamped (D When the cam cylinder is tightened,
| Clamped the central bottom part of the jaw is
@ ] @ pulled down.
(2 At the same time the 8 jaw sections tilt
toward the center to clamp the
Cam Cylinder o external form of a part.

8.6 | OML




JAWS for external Form Holding

(M Jaw Mounting
+ Insert an O-ring to the groove on top surface of the Form
Holding Clamp.
- Set a Jaw putting its locating holes onto the round locating
pins and fix it with a hex socket button head screw.

Note: At jaw installation, ensure the cam cylinder is fully
loosened by turning counterclockwise until it stops.

Hex Socket Button Head Screw
(included)

CP126 JAW

Cam Cylinder

(2-2) Tighten the cam cylinder to clamp the locking ring.
(Recommended Tightening Torque: 15N-m)
After clamping the screw should be removed from
the locking ring.

Workpiece Setting

After machining loosen the cam cylinder to take out the
locking ring.

- Mount a workpiece and tighten the cam cylinder for
clamping.

®

Workpiece

Locking Ring

@ Jaw Machining

Set the locking ring in the jaw.
(Using a screw facilitates setting.)

(Screw)

Y Hex Socket Button
Head Screw

Note: Locate the locking ring
above the button head
screw's socket.

Machine the jaw to the contours of a part.
Note: Do not machine the jaw deeper than

allowed.
=1
=]
g
=
Performance Curve
19 51992231
=10
X
Ko} 8 51992230
s 51992229
“ 5
g 51992208
Sy
IS
©
O 2
0 5 10 15 20 25 30 35 40
Tightening Force(N-m)

Z Notes

Do not actuate clamping without a workpiece to avoid damage
and deformation.Tightening with torque greater than the
allowable screw torque will lower the durability of the jaw.

OML [ 8.7




JAWS for internal Form Holding

A

L U

£ Jaw
\‘L L/ _ 1 Aluminum (A7075)

Part Number Proper

Clamps

51992232 65 25 10 | 285 | 0.2 51992224
51992233 20 30 15 | 345| 04 51992225
51992234 120 | 35 20 | 405 | 09 51992226
51992235 160 | 40 25 | 465 | 1.9 51992227

Proper
Screws

51992236
51992237
51992238
51992239

\ 2-Locating Holes

Silver

+ 1 pc. of O-ring

CP127-B TAPERED SCREWS for internal Form Holding

Part Number
51992236 225 29 M 8x1.25 10 13.2
51992237 27 35 M10x1.5 11 16
51992238 29 a1 M10x1.5 13 16
51992239 33 47 M12x1.75 14 18

-_
o ™o

Body

SCM435 Steel
Quenced and tempered
Electroless nickel plated

Weight Proper
Jaws

50 51992232

80 51992233

100 51992234

150 51992235

Fhe tapered screw expands the jaws towards

Clamped

eight directions to hold different irregular- __Unclamped _

ly-shaped parts securely. @

@

0.15mm clamping stroke of each jaw section
is perfect for clamping of lost-wax parts,
die-cast parts, extruded parts, solid-drawn
parts, prefinished parts, etc.

8.8 | OML

@

(D When the cam cylinder is tightened, the

tapered screw is pulled down.

@ At the same time the 8 jaw sections
expand to clamp the internal form of a

part.

Cam Cylinder



JAWS for internal Form Holding

(MJaw Mounting
- Insert an O-ring to the groove on top surface of the
Form Holding Clamp.
- Set a Jaw putting its locating holes onto the round
locating pins and fix it with a tapered screw.

Note: At jaw installation, ensure the cam cylinder is fully
loosened by turning counterclockwise until it stops.

Cam Cylinder

@ Jaw Machining

Loosen the cam cylinder fully and measure the Machine the jaw to the contours of a part.
dimension of the jaw for machining. Then tighten Note: Do not machine the jaw deeper than allowed.
the cam cylinder until each jaw section expands
0.15mm.

‘/Q
Depth — |

Machinable

@ Workpiece Setting Performance Curve

After machining loosen the cam cylinder to set a part
and tighten the cam cylinder again for clamping. 51992234

51992235

—_
o

Workpiece

N)

©

51992233

\

51992232 —~

N

Clamping Force (k
o~

0 5 10 15 20 25 30 35 40
Tightening Force (N-m)

< Notes

Do not actuate clamping without a workpiece to avoid damage
and deformation. Tightening with torque greater than the
allowable screw torque will lower the durability of the jaw.

OML 8.9




FORM HOLDING | CLAMPING RANGE
CLAMPS

51992212
51992213
51992218
51992219
51992220
51992221
51992222
51992223
51992228
51992229
51992230
51992231
51992232
51992233
51992234
51992235

Description

FORM HOLDING CLAMPS CP 120

FORM HOLDING CLAMPS CP 120

ROUND FORM HOLDING CLAMPS CP 123
ROUND FORM HOLDING CLAMPS CP 123
SQUARE FORM HOLDING CLAMPS CP 124
SQUARE FORM HOLDING CLAMPS CP 124
SQUARE FORM HOLDING CLAMPS CP 124
SQUARE FORM HOLDING CLAMPS CP 124
JAWS FOR EXTERNAL FORM HOLDING CP 126
JAWS FOR EXTERNAL FORM HOLDING CP 126
JAWS FOR EXTERNAL FORM HOLDING CP 126
JAWS FOR EXTERNAL FORM HOLDING CP 126
JAWS FOR INTERNAL FORM HOLDING CP 127
JAWS FOR INTERNAL FORM HOLDING CP 127
JAWS FOR INTERNAL FORM HOLDING CP 127
JAWS FOR INTERNAL FORM HOLDING CP 127

Workpiece

min.
@20
@24
@84
124
@84
8.4
2124
124
@22
@26
@26
@30
@30
@34
@36
@40

Workpiece

max.
@55

@ 80
@22
@40
@22
@22
@40
@40
@55
@ 80
2110
@ 150
@ 64
@ 89
2119
@159

8.10 | oML




Mounting-on-lathe adapters

Body

Steel (SCM415)
Black oxide finish
Carburized-hardened

Part Number A Form holding clamps
51992216 80 63 38 30 8 28 13 | 42 M6X1 910 51992212
12 deep
51992217 100 | 80 43 35 8 42 15 | 60 M8x1.25 1.600 51992213
16 deep

Using these adapters allow mounting a
Form Holding Clamp on the lathe.

Mounting-On-Lathe Adapter
Form Holding Clamp

Note : A diamond pin included with a FormHolding Clamp is not required in this combination use.




FORM HOLDING CLAMPS Wedge Style/Round

Part Number

Body Wedge
Steel(S45C) Steel(S45C)
Black oxide finished Black oxide finished
Quenched & tempered

Da

3 o
a
2 Locking Button
2
=
§ =
=3 o
~ i
T o
(2]
S
y 2
ol =T a
I T I :'tr:>

|
|

51992218 32 74

51992219 50

1.4

42
63

10 51 32 5 25 14 4.5 43 5 215

15 75 48 7 40 19 55 65 6 325

Part Number

Clamping Force

Allowable Screw Torque

()] (N-m)
51992218 M 6x1 -25L 5 18 | M3x0.5 7 3.5 3,000 9 0.33
51992219 M 10x1.5 -35L 8 27 | M3x05| 1 55 7,000 42 1.2
[
* Locating repeatability: +0.08

+ 1 of locking button

. Spring pin
(@ 5x10L for 51992218)
(@ 6x14L for 51992219)

+ Do not tighten the clamping screw without the workpiece
set to prevent damage and deformation.

+ Do not machine the jaws beyond the machinable
depth.



FORM HOLDING CLAMPS Wedge Style/Round

Features:

- When the clamp screw is tightened, both jaws tilt toward
the center to clamp the circumference of the workpiece.

- The clamping stroke is 0.5mm.

- Cutting the machinable jaw to the contours of parts
allows holding parts of different shapes. N

- Simple and compact design permits multiple-parts — .
holding arrangement. ] | Clamping Screw

=

Mounting-Hole Dimensions 4-Mo

Lf1

N Part Number ds Lf das Lfi P

Lf

(H7) (019 (:0.05)
51992218 [25|15| 5 |5 | 215 | M4x0.7 | 43

51992219 140 (20| 6 | 7| 325 | M5x0.8 | 65

How To Machine Jaws

(D Setting the locking button
Insert the locking button into the jaw, and then tighten the clamp screw to fasten the locking button.

(Using a cap screw facilitates setting)

Cap Screw

— Locking Button Locking Button
Clamping Screw /:ET

"

Note:The locking button must
be inserted onto the bottom.

(@ Machining the jaw ® Loading the part

Cut the jaw to the contours of the part. Loosen the clamping screw to remove the locking
button. Load the part and tighten the clamping
screw for clamping.

E Part

Clamping Screw

Note:Do not cut beyond
the machinable depth.




FORM HOLDING CLAMPS Wedge Style/Square

Body Wedge
Aluminum(A6NO1) | Steel(SCM440)
Anodized Black oxide finished
51992221 / 51992223 Natural color Quenched & tempered

51992220 / 51992222

2-d2 (Locating Holes)

2-d2 (Locating Holes)

| T

o]
£
C:

o

© lﬁ‘L-l o
M Hex Socket-Head Cap Screw

©

M Hex Socket-Head Cap Screw

Hz (Machinable Depth)
|
|
|
P1
z
H2 (Machinable Depth)
\
|
T
P4

— 0 1 :

Locking Button
(Included)

Across Flats W3
]
4@4 — <
(]
=
!

Across Flats W3

;F:

0
1

qj X
I — L

LI
JkH1
H
|
4_, I:,
J»H1
H

(o))
Hs

51992220 / 51992222 51992221 / 51992223

Part Number

51992220 32 74 40 42 10 50 5 32 5 4.5 25 42 M 6x1 -25L
51992221 32 74 80 42 10 50 5 32 5 4.5 45 42 M 8x1.25 -30L
51992222 50 11.4 50 63 15 72 7 48 6 55 30 62 M10x1.5 -40L
51992223 50 1.4 100 63 15 72 7 48 6 55 58 62 M12x1.75 -45L

Part Number Clamping Force Allowable Screw Torque Weight
(N) (kg)
51992220 5 18 M3x0.5 7 3.5 2,500 75 0.22
51992221 6 18 M3x0.5 7 3.5 2,500 14 0.42
51992222 8 27 M3x0.5 11 55 5,500 26 0.62
51992223 10 27 M3x0.5 11 55 5,500 46 1.29

[

* Locating repeatability: +0.08 * Do not tighten the clamping screw without the workpiece
set to prevent damage and deformation.
. + Do not machine the jaws beyond the machinable
depth.

1 of locking button for 51992220/51992222
2 of locking button for 51992221/51992223
- 2 of parallel pin (m6 tollerance)
(@ 5x10L for 51992220/51992222)
(2 6x15L for 51992221/51992223)

8.14 | OML




FORM HOLDING CLAMPS Wedge Style/Square

|
Features: ol || le
o . i O mp( D | D]
+ When the clamp screw is tightened, both jaws tilt toward the "“"' ‘
center to clamp the circumference of the workpiece & &

- The clamping stroke is 0.5mm.

- Cutting the machinable jaw to the contours of parts allows Clamp Screw_
holding parts of different shapes.

« Simple and compact design permits multiple-parts
holding arrangement.

Mounting-Hole Preparation

P2
+0.02(only for d3)

Lf_
4-M2

Part Number ds Lf M2 P2 P3
5 G

—¢ |

] ‘ 51992220 | 5| 5| Mdx0.7 | 42 | 25

& o —— & N=s 51992221 | 5| 5| Mdx0.7 | 42 | 45

e o i 51992222 | 6| 8| M5x0.8 | 62 | 30
| - 51992223 | 6| 8| M5x0.8 | 62 | 58

(Locating Hole)
Use the included parallel pin for locating.

(Cap Screw)

How To Machine Jaws

Locking Button

Locking Button

5

Note:The locking button must
be inserted onto the bottom.

(D Setting the locking button
Insert the locking button into the jaw,
and then tighten the clamp screw to fasten the locking button.

(Using a cap screw facilitates setting) Clamping Screw

@ Machining the jaw @ Loading the part
Cut the jaw to the contours of the part. Looen the clamping screw to remove
the locking button. Load the part and

tighten the clamping screw for clamping.

Part

Note:Do not cut beyond
the machinable depth.

Application Examples

Single-station mode Dual-station mode Single-station mode
on the short-type clamp on the long-type clamp on the long-type clamp






FAST CLAMPS

14.4

Page

Y

Risers + V blocks

Accessories

Page 14.40

'

EE L]
X rl

r Side Clamps
¥

“w
£-
“AD

Page 14.71

e Remote control units

Adjustable stops

Clamp screws

Page 14.86

FAST CLAMPS

Work locators

Centering pin

ey

&&=

Page 14.47

Page 14.67

i Work supports

Page 14.75

e Contact bolts

Page 14.84

Hook Clamps

=

OML1 14.1




Fast Clamps

4 ) 4 N
Speedier In Setup More Economical
Than Conventional Than Hydraulic
Manual Clamping Clamping

Much lower fixture costs
Maintenance free

No tools needed

J
Positive Clamping
Spiral cam mechanism
Space-Saving Design
Removable handle
.-;.,B
Adjustable Clamping Force
Adjustable-torque
handles are also ’
available ’

Fast Clamps serve for varied applications in machining
and assembly jobs in different industries.

=

STam W [ { =
= T I ( Q
Semlconductor @ Audiovisual =
Pars % Oy O -
‘ [— L
@ @ = )

Office
Machines

%

U/




Added Product Items Offer
A Wider Range Of Applications

Stronger Clamping Force
Clamping-Height Adjustment

Greater Performance

[!E'ﬂ Swing Clamps
Heavy
Pull Clamps Clamping Range:up to 1.6mm
Heavy ¢ , Clamping Force:up to 6,000N

Clamping Range:up to 2.5mm
Clamping Force:up to 8,000N

Clamping Force

Side Clamps, Standard
Clamping Range:2mm
Clamping Force:up to 4,000N

Push Clamps, Standard
Clamping Range:up to 2.5mm
Clamping Force:up to 4,000N

Pull Clamps, Standard
Clamping Range:up to 2mm
Clamping Force:up to 2,500N

Swing Clamps, Standard
Clamping Range:up to 1.8mm
Clamping Force:up to 1,200N

Clamping-Height Adjustment

i el
This extended line of Fast Clamps allows clamping parts made
from materials ranging from non-ferrous metals like aluminum, zinc, etc.
to cast iron and steel.
. . o To compensate for variations between castings, a long clamping height
Settlng a clamping force is |rf1portant when range is needed. Clamping force s also an important factor for castings
clamping a part that can easily get strained. that receive a comparatively heavy load when being machined.

OMLI 14 3



QLPD

PULL CLAMPS(Standard)

With Handle

Without Handle

Body & CAM

Material | SCM440 steel
Finish Black oxide
Heat Treat | Quenced and tempered

Material | S45C steel

[Finish | Black oxide |
Ball Knob

Material | ABS resin

[Color | Black |

Note) Clamping Pins or Screws must be ordered separately.

Recommended
Clamping Position

How To Use

Pull Clam

How To Locate Workpiece
1. Basic Method

- ~ <
g g N L ‘
— C
T & ﬁ w j :
o o [ ‘
-g_ -g_ Locating Pin
<_Ev <_Ev 2. Method for clamping and locating a workpiece at a time
© © L ) Give an accuracy shown below to the hole spacing
G) G-3 Handle Mounting Holes to generate a locating accuracy of +0.08.
(Angle between 2 holes:30°)
- 3 Options of Handle Mounting Position ‘ +0.02
< L b (Clamping-Pin Hole Spacing)
ﬁ Clamping-Pin Hole (F7)
(©)] A-F — (See Clamping Pins) [}
# M(CIamping-Pin or Clamping-Screw tLL‘j
A Settmg Hole) ‘ $
=N ‘ £0.02 ‘ Locating Pin
[ = - - w !
‘ L}L - @ (Pull-Clamp Locating Hole Spacing)
a| fill \ﬁ
#N Technical Infomation
Locating-Pin Hole Allowable Loads in Machining of Workpiece Bottom
Ensure that a force more than indicated below
is not applied to the workpiece bottom.
: A D M ; Allowable Force To Workpiece
Series |10 B C |pcp| E F G Ho| K\ Fn Series Bottom (Per Clamp)
QLPD150 | 32 40 13.5 18 | 24.5 |M4x0.7 8 deep| M5x0.8 90 | 15 5 QLPD150 max.2000N
QLPD200 | 40 50 18 25 | 30.7 |[M6x1 9 deep| M6x1 110" | 2 8 QLPD200 max.5500N
Soras N p Clamping Clamping | Recommended Workpiece
(G6) Force (N)| Mechanism | Thickness Tolerance *) [jj Workpiece
QLPD150| 8 | 10 900 Spiral Cam +0.3 ) "
QLPD200 | 12 13 2500 Cam Angle:4 £0.5 — ‘ = ,@,
With Handle Without Handle Max. Force ﬁ ‘
| |
Allowable Operating| Weight Weight —
Part Number J L Load (N) ***) (g) Part Number (g) g W %
51991101 | 765 | 20 150 245 51991103 | 220 Foxture Plate
51991102 | 1115 | 25 200 470 51991104 | 420

%) Grip length of Clamping Pin(workpiece thickness)

¥%) Maintaining these recommended tolerances allows minimizing the variation of handle position
in the clamping mode in clamping with the use of the Clamping Pin.

¥%%) Allowable load to operate the handle,

14.4 | OML

Note : See page 151 and 154
for performance curves.




QLPD-X CLAMPING PINS(Standard)
‘ How To Use
E C(Workpiece Thickness) Locking S ©
ocking Screw 2 ] e
NE o L R
28 52
J-Hex. Socket Head =) == =F
Setscrew V/ ! :‘ i B
Y, ©) © ) )
a N <o shank B |
8 BEr—EeE g¢ ==
Material | SCM435 steel 1 ] \‘,—:,”Ia
al b I I N # / [T} VAN
Finish Precision ground ’ . -
Heat Treated (shank end) \—/
(ouried Head
Miﬁ%al S&"ﬁg’gdﬂee' C dimension is adjustable by +/-1mm to fit actual
Heat Treat | Quenched and tempered workpiece thickness.
Part Number AIBI CY IplElFlG| H | J ul Wogn  (oering Bxamele
(F7) |(f7)(By O.1mm) Clamps (g
51991105-C Dim. inmm) | _ | 5 .8 0 mawfo QLPD150-5x5-10.5
<(C Dim. in mm, 15 hcns : | min. 8 to max. : :
51991106 -(C Dim. in mm) 5 5 3=C=50 (10{10(17| 3 |M3x0.5(M3x0.5-4L| QLPD150 Series nin. 8 to mar 9 Shank Size ~ C Dim.
51991107 {C Dl.m' !n i 8 -8 4=C=80 |16(15|22|4.3|M5x0.8|M5x0.8-5L | QLPD200 Series w - Custom Clamping Pins(different B dimensions)
51991108 -(C Dim. in mm) 10 min.31 to max.7 are available on request.

%) For ordering, specify workpiece thickness.

QLPD-M CLAMPING SCREWS(Standard)

B 8 ‘ (Spacing between Clamping-Pin
2 *ﬂ ‘and Clamping-Screw holes)
{ O =s ~
I i
NS
or

T
Material | SCM440 steel
Finish Black oxide - - II
Heat Treat | Quenched and tempered

#A

Pull Weight Recommended Spacing Tolerance ! o
Part Numbef A| B |[C|D|E|F|G|H|J Clarl;ps e(ag)t in Use of Clamping Screws Locating Pin
51991109 | . M 508 | 6 QLPD150| 3
51901110 | * et | 7] o) 7 |M2% |4 120 Seres | 4
51991111 | A M85 | 9 QLPD200| 10
8 1222|1543 6 |4 - M ym
51991112 ‘M10X1-5 11 Series 13 Custom Clamping Screws (different screw thread sizes) are available on request.

OML| 14.5




QLPDH PULL CLAMPS (Heavy)

Body & Clamp ring

Material | SCM440 steel
Finish Black oxide
Heat Treat | Quenced and tempered

Handle Shank

Material | S45C steel
Finish Black oxide
Heat Treat | Quenced and tempered

Material | Plastic
Color Black

Note) Clamping Pins or Screws must be ordered separately.

Unclamping Position
7(% /Clamp Starting Position

Recommended Clamping Position

-2

Throw

ik |

Y Locking Screw
\% Clamping End /"3 Handle Mounting Holes
(Angle between 2 holes is 3 )

= Countersink

©0C
Q@ + The handle can be removed by loosening the
< }‘; ] ——- locking screw.
el I[ To keep the handle mounted permanently.make
— sure that the locking screw is fully tightened.
©|_¢B 3 options of handle mounting position.

_Mounting-Hole Effective Depth J

How To Use

How To Locate Workpiece

1. Basic method

Locating Pin

2. Method for clamping and locating a workpiece at a time.

Give an accuracy shown

below to the hole spacing to

generate a locating accuracy of +0.08.
+0.02

Clamping-Pin Hole(F7)

(See C

W(GIamping—Pin Hole Spacing)

lamping Pins)

[

. %002 | Locating Pin

(Pull-Clamp Locating Hole Spacing)

Technical Information

Allowable Loads in Machining
Bottom

of Workpiece

Max. Forceﬁ

Workpiece

Part Number

Alowaole Foros To Worksece Botiom (Per Ciamp)

51991501 max. 8000N
51991502 max.14000N
Part number | Series A B Cc D E F G H J X QLPDH Perf C
(£0,01) (F7) (P.C.D) a0 erformance Curve QLPOHE00R
51991501 |QLPDH400R| 50 65 28 12 36 160 26 2 10 40 7000
51991502 |QLPDH500R| 63 80 34 16 45 180 28 2.5 12 50 2 6000 QLPDH400R
Recommended § 8000
Part number | Series L /Iillowgble([(\)l;;eritgg Clam;?;w\gl)Force Nf'aﬁp‘ﬂg Workplece Thickness V\éi'g;’t 2 a0
g ECNanISM | Tolarance #kk) 9 2 aw
51991501 [QPDHANRM 8125 4 ceep] 6,000 |Spiral Cam|  +05 12 £ 2
51991502 | QLPDH500R [M10x1.5 18 deep 8,000 | Gam Ange : 4 +0.8 22 o 0
%) Grip length of Clamping Pin (workpiece thickness) 0 100 200 300 400 500 600
¥%) Allowable load to operate the handle Operating Load(N)

¥%%) Maintaining these recommended tolerances allows minimizing the variation of handle
position in the clamping mode in clamping with the use of the Clamping Pin.

14.6 | OML




QLPDH-X CLAMPING PINS (Heavy)
How To Use
Material | SCM435 steel Locking S 2 o
Finish Precision ground M% &9 2 §
22 __ ot
s oy ASRY |55
Material | S45C steel *,, _ gsE
Finish | Black oxide : %Z ',
. Heat Treat | Quenched and tempered Shank B i?‘ S
|
C dimension is adjustable E C(Workpiece Thickness)
by = Tmm to fit actual workpiece F
thickness. J 1 .G_
K-Hex. Socket Setscrew \
7
@ ©
A ﬁ 777777 = Do Ordering Example
S | o 8
QLPDH400-12-20. 5
1 — T T ;
/ 7 S| Part Number C Dim.
Knurled Head -Custom Clamping Pins (different B dimensions)
are available on request.
A|B C %) Weight
Part Number (7)\(F7) By 0. 1mm) D E|F|G|H J K Pull Clamps Q@
51991503-(C Dim. In mm}| . |12 18 70 to 160
B ALAL AL AL SLAE.LLELELLS B < é — . . . 25 - X~ ¥~
51991504-C Dim. n mm) 12 16 0<C=100 A 23 (38 1(21.5/6.5| M 8x1.25 | M 8x1.25- 8L | QLPDH400R 175 10 265
519915054 Dim. In mm)| . | 16 24 160 to 350
AL ASL AL S LA ALELELLLE — < é = . . 5- 2~ ¥ Yvv
51991506-(C Dim. In mm) 16 20 0<C=120 30 294828 9.5/ M10x1.5 | Mi0x1.5-10L | QLPDH500R 395 10 515

¥)For ordering, specify workpiece thickness.

@] W=10] BB CLAMPING SCREWS (Heavy)
NEW I

Recommended Spacing Tolerance
ﬂ T in Use of Clamping Screws
J <

[EtiE=

D
DA

(Spacing between Clamping-Pin
and Clamping:Screw holes)

] K ? |
— Workpiece
Material | SCM 435 | _’l
Finish Black oxide
Heat Treat | Quenched and tempered — @
[

Pull | Weight ]
Part Number | A B CIDIE|F|G|H|J|K ClampS (g) Locating Pin
51991507 | . [Mi2x1.75] 13 40 Custom Clamping Screws
12 20(38|2 [21.5(6.5/10| 4 |QLPDHAIR (different screw thread sizes)
51991508 Migx2 |17 55 are available on request,
51991509 Mi6x2 |17 90
51991510 16 ME0C5 |21 25(48|2.5128 [9.5/13| 5 |QLPDH500R 10

OMLI 14.7




SWING CLAMPS(Standard)

With Handle

Without Handle

Body & Shaft

SCM440 steel
| Quenched and tempered |
Clamp arm & Adaptor Head

Material | S45C steel
[Finish | Quenched and tempered |

Material | S45C steel

Material
[Finish

[Finish | Black oxide |
Ball Knob

Material | ABS resin

[Finish [ Black |

j N
[1]! Clamp Starting
‘ ‘ Position / -

Counterclockwise Clamping

Recommended

Clockwise Clamping

Position

Position

Unclamping ‘
1

G ' _,\//’
Clamping End /

Throw

Clamp Starting
Position

&-

° Recommended

T-3 Handle-Mounting Holes

(Angle between 2 holes:35° )

3 Options of Handle Mounting Position
o

= ) —
Ll #U
- To | !
£ a
€l < g%‘_i.‘ !
of it
4-s

. Clamping D
Size/Type Direction A|B]|C (CD) E|F | G|H|J|K L
QLSW150R |  Clockwise 32
QLSW150L | Counterclockwise | *) 30 1 46|18 )30 10 % 8 14| 2 Mex
QLSW200R Clockwise 45
QLSW200L | Counterclockwise| **) A6 25|38 18] 40| 1216 32 | MBx1.25

%) Actual clamping height : 31.4 to 32 6 (clamping range :1.2)
%) Actual clamping height @ 44.1 to 45,9 (clamping range :1.8)

; Clamping| Clamping
Size/Type | M . = . = U Force(N) | Mechanism
QLSW150R
QLSW150L 15 | 17 | 51 57.5 [M4x0.7 8 deep|M5x0.8 800 Spiral Cam
QLSW200R Cam Angle:4’
QLSW200L 20 | 225 | 69.5 | 78.1 [M6x1 12 deep |M6x1 1200

With Handle Without Handle
Allowable Operating [Weight Weight
Part Number| U V Load (N) $¢4) (@ Part Number @
51991115 51991119
51901117 | 2 | P 150 520 51991121 | 2%
51991116 51991120
51901118 | |17 20 o 51991122 | %%

%) Allowable load to operate the handle

14.8 | OML

Note : The handle must be ordered separately.

How To Use

Counterclockwise Clamping
(Handle at Clamping End)

BJ732
Contact Bolt

Counterclockwise Clamping
4 (Handle at Clamping End)

Custom Riser

Tip Installation

When installing a tip on the clamp arm,
lock the clamp arm using a wrench

to prevent the clamp from receiving
any torque.

Wrench




(@] IS\ T2T 2 I MACHINABLE CLANP ARMS FOR STANDARD SWING CLANPS
Technical Infomation
B _F- . ..
2-F-Ball Plungers | | Allowable Loads in Machining of
C i Workpiece Bottom
E‘\ Workpiece
T T B | Fixture Plate
NS5 Max, Force ﬁ ‘
oE S / %
|
i
a ; ‘H?{g: - Series Allowable Force To
Material: S45C steel R Workpiece Bottom(Per Clamp)
Finish : Black oxide QLSW150 max.2100N
QLSW200 max.2700N
Clamp Arm Length Vs. Clamping Force Clamp Arm Length Vs. Strain During Clamping How To Use
> :Z QUsw209 Size ’ QLpW200) Size Notes : * Use for clamp arm customization
g 100 . -Clamp.arm length denotes + Machine to your clamping requirements
s % < C dimensions below. ) o
° £, -Clamping force and strain | | (Clamping Height in Use of
5 . 2 Qlswis size during clamping denote Machinable Clamp Arms) r1
<_Ev oo o values gained when the _E’H ‘
° max. allowable load is <| g5 SN
, QLSW1H0 Size , applied to the handle. o2 jrﬁ
Clamp Arm Length(mm) Clamp Arm Length(mm)
Part Numbel A | B | C | D | E| F |Alowable Weight of) o 0 15| Weight Part Number A
(F8) Clamping Tip*) (g) (9) 51991113 37
51991514 | 40 | 75 [ 55 | 16 | 16 | M5 QLSW200Series 330

¥) A clamping tip to mount on the end of the clamp arm must not weigh over 100g.

+%) Actual clamping height:33 4 to 346 (clamping range:1.2)
k%) Actual clamping height:46.1 to 47.9 (clamping range:1.8)

OMLI 14.9



SWING CLAMPS (Heavy)

Body/Cam/Handle

Material | SCM440 steel
Finish Black oxide
Heat Treat | Quenced and tempered

Material | SCM435 steel

Finish Black oxide

Heat Treat | Quenced and tempered
Staffa/Copertura/Leva

Material | S45C steel

Finish Black oxide

Heat Treat | Quenced and tempered

Manopola di regolazione

Material | S45C steel
Finish | Black oxide |
Material | Plastic
Color | Black |
Counterclockwise Clamping Clockwise Clamping
- Clamping End
[ﬁ/ Clamp Starting Position
I L av)
P\ °
= X o
! g
- : \‘
Y " Clamping End
V\, \/
o “\‘r“S
To
o5
£ e
€ 3| ‘ ‘ Adjustment Knob
e 82 -
a pr—
>
B = - N
= o] ~ —r oCP
1 -
DS Rt
‘ i <|EBE 7
(=t 40| §99 -
[} g i Bottom
S [ e5

The handle can be removed by
loosening the locking screw.
To keep the handle mounted

How To Use
BJ732
Contact Bolt

Clockwise Clamping
(Handle at Clamping End)

Clockwise Clamping
(Handle at Clamping End)

Custom Riser

Tip Installation

When installing a tip on the clamp arm, lock the
clamp arm using a wrench to prevent the clamp from
receiving any torque.

Technical Information

Allowable Loads in Machining of
Workpiece Bottom
P =

[ Tel
Workpiece

Max, Force !

777

Fixture Plate

[
%

permanently, make sure that X
the locking screw is fully Serfes Allowable Force To Workpiece
tightened. ) Bottom(Per Clamp)
3 options of handle mounting
When Handle Is Removed position. QLSWH400 max. 8000N
QLSWH500 max.14000N

Part Number

Clamping |Clamping |Clamping B

C/IDIE|F|G|H|J|K|L|M

Direction| Range | Height
51991515  [Clockwise
51991516 |Counter- 12 [70t0 80| 40 | 22 | 16 | 38 | 16 | 30 [120| 40 | 13 | 50 | 20
51991517 [Clockwise
51991518 Counter-| 1.6 (8010 90| 50 | 25 | 20 | 48 | 24 | 38 |137| 50 | 18 | 60 | 25

clockwise

S Allowable (Clamping Clamping | Weight
Part Number | N P Q| R PCD) T U Iggg?ﬂ?g F(o'\T):e Mechanism| (k)
51991515
51991516 42 |M 8x1.25/125| 23 | 28 (Mox1 12 deep| 39 600 3,500 Spiral Cam 1.1
51991517 Cam Angle
51991518 48 |M12x1.75| 160 | 28 | 35 |M8¢1.25 16 deep| 47 | 600 6,000 2 2

*) Allowable load to operate the handle

14.10 | OML

QLSWH Performance Curve

QLSWH500R/L

QLSWH400R/L

Clamping Force(N)

100 200 300 400 500 600

Operating Load(N)




Examples

4 ) 4 )

\ /

OML I 14.11




Information on Your Making Custom Clamp Arms for Standard Size of Swing Clamps

Recommeded Dimensions

. A L (Max.)
Series (F8) B E F G H J K ) M N
QLSW150 10 12 5 32 M4x0.7 11 1.5 30 45 15 C5
QLSW200 16 16 6 42 M5x0.8 15 2 40 55 20 C8

%) See page 138 clamping force vs. clamp-arm length
Clamp Arm Installation/Removal Instructions

To install a clamp arm,

1.Fit it onto the shaft getting the stop pin received in the stop-pin slot provided on the clamp-arm bottom.
2.Place the adaptor head onto the shaft getting the shaft fitted into the shaft-receiving pocket in the

adaptor head, and then lock the adaptor head using a hex. socket head cap screw.

3.Tighten the ball plungers inside the clamp arm.
To remove the clamp arm, follow the above steps back.

How To Determine D Dimensions

Series C

D

QLSW150 | 46 |46 - Clamping Height

QLSW200 | 63 |63 - Clamping Height

| 2-N
Vo
N
== 4
/
R2.5 or Less ‘ N
R e ~
t TT b @
Ofug 1] B
= 21 '
o= |
=) . LJ
E(Min.)

2-G-Ball-Plunger Holes

Clamp Arm Customization Examples

>
Ibr!

Low Height Clamping

®

Distant Point Clamping

14.12 | OML

Hex. Socket Head

Cap Screw

Plastic Pad Attachment

Clamping on Narrow Surface




Information on Your Making Custom Clamp Arms for Heavy Size of Swing Clamps
Recommended Dimensions

| A E L
Serzs Fs) | B e D | op| F e Ho vax)

QLSWH400 | 32 | 15 o1 13 5 | Med || 20 | 40 | 50

QLSWH500 | 41 | 19 24 | 15 6 | Medzsl| 25 | 50 | 60

Clamp Arm Installation/Removal Instructions
To install a clamp arm,
1. Place the wave washer on the shoulder of the bolt and then fit the clamp arm onto the bolt.
2. Place the adjustment knob onto the bolt getting the bolt fitted into the bolt-receiving pocket
in the adjustment knob, and then lock the adjustment knob using a hex. socket head cap screw.
3. Align the countersinks on the side of the holder with the setscrew holes on the side of the
clamp arm, and then lock them using the hex. socket setscrews.

To remove the clamp arm, follow the above steps back.

Hex. Socket Head Cap Screw

Adjustment Knob Bolt-Receiving Pocket

= ®-_Hex. Socket Setscrew

g !

- Wave Washer »B

< L
Countersinks ”/ ‘ A i A DL o

A S R
Holder : % 1
2-F
PA

Clamp Arm Customization Examples

@
-

|
= @

O T

Gooseneck Shape

Carbide Gripper Attachment

Toggle Pad Attachment Irregular Shape

=

OML | 14.13




14.14 | OML

SWING CLAMPS (Mini)

Body / Handle / Spindle

Material | S45C steel
Finish | Black oxide
Heat treat | Quenched and tempered

Arm / Cam Shaft

Material | SCM440 steel
Finish | Black oxide
Heat treat | Quenched and tempered

Material | Phenolic plastic

| Color | Black |

Counterclockwise Clamping Clockwise Clamping

Arm Swin
70—

Recommended
Clamping Position

Clamping Throw

° 5 -—
0 Unclamping Position ,,+:
- K

G| il Clamp Starting Position
H i N N
J A <_Advance Throw
}
ats
Advance Throw . S
I 70 = >
, Clamp Starting Position N\, 50°
S K i .
Unclamping Position ./, ’ i e
5 Clamping End <.+ Recommended .
s ) . || Clamping Posion \ 100
~Arm Swing 5 \Clamping Throw

—
%) mi
T [T
( (G} o 2
IS
o | 5
Rough Finished
Mounting Holes Surface Contact Surface Contact - .
\‘2.(11 2-0U Q lﬂ\ ‘I)
| ;:
£ »n
2 8
Spindle 2 S
g 5
S <
Clamping Height *) .
i . Clamping| Advance
Part Number %II?;T:‘:ES Finished Surface Contact | Rough Surface Contact Stroieg Stroke
Min. Max. Min. Max.
51991822 Clockwise 228 24.8 224 24.4 ; 08
51991823 | Countercockwise| (22.3-23.3) | (24.3-25.3) | (21.9-22.9) | (23.9-24.9) :
51991824 Clockwise 31.3 33.3 32.2 33.3 14 11
51991825 | Countercockwise| (30.6-32) (32.6-34) | (31.5-32.9) | (33.5-34.9) ) '

*) Clamping height can be adjusted. The parenthesised values denote actual clamping height.

LA\ A | B | C | D| E|F|G|H|J|K|L|M|N|P|Q

51991822
30| 10| 18 | 18458/ 49 | 26| 22| 6 |11.5 8 |4.3| 50| 15| 36
51991823

51991824
40 | 14 | 23| 23 |61.3] 66 | 35|30 | 8 |15.3 10|53 |63 | 20 | 45
51991825
. |Clamping . :
Allowable Operating Clamping | Weight
Part Number SIS T u|lv | w Load (N) ™) F?'\rge Mechanism | (g)
1991822 | ¢ |57 g Max07(4.3| 27 | 8| 100 | 1,100 | SpialCam | 112
51991823 e
51991824 amArges
21091305 | © |26:5M6x08 5.3 34 (10| 150 | 1,800 250

**) Allowable load to operate the handle

How To Operate

1. Unclamped
Load a workpiece.

2. Arm Swing
Turn the handle to set the arm in position.

3. Clamping Setup
Continue turning the handle to set the
spindle close to the workpiece.

4. Clamping
Turn the handle to the recommended clamping
position.




Performance Curve How To Operate

How To Change Handle Position

The dodecagonal socket in the hub of the handle
allows changing the handle operating angle by 30°.

Hex. Socket-Head

1800 QLSWC150 Cap Screw
1600
1400
1200
Gty Note) For size "W", see
1000 the chart on the previous
= page.
8
i 800
(=)
£
[e%
€
®©
&) 600
400
How To Release Locked Handle
200 When turned beyond the clamping end, the handle
will be locked with a click. The locked handle can be
released by following the instructions below.

0 20 40 60 80 100 120 140 150
When the spindle is not installed,

Operating Load (N) Clamping End

Handle Locked Position

Technical Information

Allowable Loads in Machining of Workpiece Bottom

Ensure that any force more than stated below is not
applied.

Turn the handle beyond the locked position until
another click is made.

Workpiece

When the spindle is installed,

Clamping End

ﬁ >\, Return
Max. Force ) (ia;{\ \ﬁ
|
\ <N — N
d ==
Fixture Plate l

Handle Locked Position

Push
Series Allowable Force to Workpiece Bottom (per Clamp)
QLSWC100 max.2,300N Lower the arm at the handle locked position and then
QLSWC150 max.3,600N return the handle keeping the arm lowered.

OML | 14.15



SWING CLAMPS (Mini) WITH CAM HANDLE

Body / Washer / Spindle

Material| S45C steel
Finish
Heat treat| Quenched and tempered

Arm / Cam Shaft / Handle

Material| SCM440 steel
Finish
Heat treat| Quenched and tempered

How To Operate

Black oxide

Black oxide

Counterclockwise Clamping Clockwise Clamping

Clamp Starting Position

Recommended
o Clamping Position 1. Unclamped

Load a workpiece.

Unclamping Position

135°

Clamping Stroke,

Rough Finished o
Surfaceugontact Surfalcelz Contact } y
N
AN
N
5 2 ° 5
27 o :
o »
5 T
gt 2
Mounting Holes (o]
; Clamping Height *) .
A NIl C'2MPING ™ Finished Surface Contact | Rough Surface Contact Clsatmplng Overal
Direction roke | Stroke
Min. Max. Min. Max. 2. Arm Swing
51991826 Clockwise 228 24.8 22.4 24 4 0.8 19 Turn the handle to set the arm in position.
51991827  |Countercockvise| (22.4-23.2) | (24.4-25.2) | (22-22.8) | (24-24.8) ’ )
51991828 Clockwise 31.3 33.3 32.2 34.2 1 15
51991829  |Counterclockvise| (30.8-31.8) | (32.8-33.8) | (31.7-32.7) | (33.7-34.7) )

*) Clamping height can be adjusted. The parenthesised values denote actual clamping height.

A B C D E F G H J K L M | N P | Q
51991826 | 54 | 10 | 18 | 18 | 52 | 26| 22| 6 |11.5 8 |4.3| 50| 15|36 | 6
51991827
51991828

40114 12323 |68|35|30| 8 |15.3/ 10536320 (45| 8
51991829
Allowable | Clamping . '
Cam Handles 3 Clamping | Weight
Operat Fi )
Part Number R S T U Part Number Lo;’;‘(aN')”%*) ?,\rf):e Mechanism | (g)
51991826
22.8|M4x0.7/ 4.3 | 27 |QLCA-05 100 800 ' 134
51991827 Q Spial Ca |
51991828 Cam Angle:4’
51991829 28.5M5%0.8/ 5.3 | 34 |QLCA-06] 150 1,500 272

**) Allowable load to operate the handle

14.16 | OML

3. Clamping
Set the handle down to clamp the workpiece.



Performance Curve

Clamping Force(N)

1600

1400

1200

1000

800

600

400

200

QLSWC150

QLSWC100

20

40

60 80

Operating Load (N)

100

120 140 150

Technical Information
Allowable Loads in Machining of
Workpiece Bottom

Ensure that any force more than stated below is not
applied.

Workpiece

Max. Force ﬁ
\
Fixture Plate
Series Allowable Force to Workpiece Bottom (per Clamp)
QLSWC100 max.2,300N
QLSWC150 max.3,600N

OML | 14.17




SWING CLAMPS (Mini) FOR TORQUE CONTROL

Body / Washer / Flange Nut / Spindle

Material

S45C steel

Finish

Black oxide

Heat treat

Quenched and tempered

Material

Arm
SCM440 steel

Finish

Black oxide

Heat treat

Quenched and tempered

* Designed for clamping-force
control with a torque wrench

« Screw clamping mechanism
allows for longer clamping stroke
and greater clamping force.

Rough Finished
B Surface Contact ~ Surface Contact
TTIT iﬁ%% %%
(e) o : i
w T % ! : ;
— : #D —
R < o | £ £
T g ! Spindle E £
o CD ] : ! | O o
g
5 c
[S)
Clamping Height *) Clampin
= AN ol  Finished Surface Contact | Rough Surface Contact bStro‘I)(eg A B C D E
Min. Max. Min. Max.
22.8 24.8 22.4 24 .4
51991830 (22.8-25.8) | (24.8-27.8) | (22.4-25.4) | (24.4-27 4) 3 29 | 10 | 18 ) 18 52,5
31.3 33.3 32.2 34.2
51991831 (31.3-35.3) | (33.3-37.3) | (32.2-36.2) | (34.2-38.2) 4 39141 23 ) 231695

*) Clamping height can be adjusted. The parenthesised values denote

actual clamping height.

How To Operate

Flange Nut

Turning the flange nut allows the arm
to swing into position for clamping.

Warning

Do not use a power tool(impact wrench etc.) to turn
the flange nut, for damage prevention.

Performance Curve

51991830 26 22 6 11.5 8 4.3 8 36 6 22.8
51991831 35 30 8 15.3 10 5.3 10 45 8 28.5
Clamping Allowable Weight
Part Number R S T U Screw Torque
Force(N) (N.m) (9)
51991830 M4x0.7 | M5%0.8 4.3 27 2,300 6 94
51991831 M5%0.8 | M6x%1 5.3 34 3,600 10 210

14.18 | OML

4000
~ 3500
3000
2500
2000
1500
1000
500

RLSWC-06

LSWC-05

Clamping Force (N

0 2 3 456 7 8 9 10
Screw Torque(N.m)




APPLICATION EXAMPLES

Fixturing with Swing Clamps(Mini) with Cam Handle

Fixturing with Swing Clamps(Mini)

OML | 14.19




QLRE RETRACTABLE CLAMPS (Mini) WITH CAM HANDLE

Body / Spindle How To Operate

Material|S45C steel
Finish |Black oxide
Heat treat| Quenched and tempered

Arm / Joint

Material | SCM435 steel
Finish |Black oxide
Heat treat| Quenched and tempered
Material | SCM440 steel
Finish |Black oxide
Heat treat| Quenched and tempered

1. Unclamped
Load a workpiece.

Clamp
Starting Position

Clamping Stroke

Rough Finished
Surface Contact Surface Contact
Spindle =
@ Arm Pivot
I
g
@
(&)
2. Clamping Setup
- - * Set the arm in clamping position holding it
— Clamping Height *) Clamping | Overall at the arm pivot.
Part Number Finished Surface Contact Rough Surface Contact Stroke Stroke
Min. Max. Min. Max.
32 40 35 43
51991832 (315-32.5) | (39.5-40.5) | (34.5-35.5) | (42.5-43.5) ! 15
37 48 42 53
51991833 (36.4-37.6) | (47.4-486) | (41.4-426) | (52.4-53.6) 12 18

*) Clamping height can be adjusted. The parenthesised values denote actual clamping height.

EUANDIGla A | B | C | D|E|F | G|H|J|K|]L| M|N|P|Q

51991832 45|10 (255 25|16 |50 | 8942|3226 |22|18|20| 11|55

51991833 55112132 | 31|20 |63 (10952 |40 |32|28|22|25|14|6.6

Cam Handles | Alowable Operating | Clamping | Clamping Weight
Part Number RIS T I PartNumber| Lod(N)*) |Force(N) | Mechanism ()
51991832 8 |24 M6x1 | QLCA-05 100 700 Spiral Cam 244
Cam Angle:4° 3. Clamping
51991833 10 130.5/M8x1.25 QLCA-06 150 1,100 468 Set the handle down to clamp the workpiece.
**) Allowable load to operate the handle For unclamping, follow the above steps back.

14.20 | OML




Performance Curve

1200
1000
800

z

(0]

o

£ e00

(o))

=

Q

£

a8

© 400
200

QLRE150

QLRE100

20

40

60 80

Operating Load (N)

100 120

140 150

Technical Information

Allowable Loads in Machining of
Workpiece Bottom

Ensure that any force more than stated below is not
applied.

Max. Forceﬁ

/

Fixture Plate |

Allowable Force to Workpiece
Part Number Bottom (per Clamp)
51991832 max.5,000N
51991833 max.6,000N

B /PPl ICATION EXAMPLES

Fixturing with Retractable Clamps (Mini) with Cam Handle

OML | 14.21




QLRE

RETRACTABLE CLAMPS (Mini) WITH ADJUSTABLE HANDLE

Rough
Surface Contact

Spindle

Clamping
Height

Clamping
Stroke

Body / Spindle

Material |S45C steel

Finish |Black oxide

Heat treat|Quenched and tempered

Arm / Joint

Material|[SCM435 steel

Finish [Black oxide

Heat treat|Quenched and tempered

* Screw clamping mechanism
allows for longer clamping stroke
and greater clamping force.

Finished
Surface Contact

™

Clamping Height *) Clampin
=P MN[0 Finished Surface Contact | Rough Surface Contact StroFl)(eg A B C D E
Min. Max. Min. Max.
32 40 35 43
51991834 | 35995 | 40-375) | (35325) | (3405) | 22 | 40| 10 285 25 116
37 48 42 53
51991835 (37-335) | (48445) | (42-38.5) | (53-49.5) 35 | 55|12 |32 |31 |20
*) Clamping height can be adjusted. The parenthesised values denote actual clamping height.
51991834 47 86 42 32 26 22 18 20 11 55
51991835 63 109 52 40 32 28 22 25 14 6.6
Adjustable | Allowable Operating | Clamping | Clamping | Weight
Part Number R S T u Handles Load (N) **) Force(N) | Mechanism (9)
51991834 8 | 24 | M6x1 | 40 |FKF6-BR 170 2,400 242
Screw
51991835 10 |30.5|M8x1.25| 65 |FKF8-BR 210 4,200 490

**) Allowable load to operate the handle

14.22 | OML

How To Operate

1. Unclamped
Load a workpiece.

Arm Pivot

2. Clamping Setup

Set the arm in clamping position holding it at the
arm pivot.

3. Clamping
Set the handle down to clamp the workpiece.

For unclamping, follow the above steps back.




Performance Curve Technical Information
Allowable Loads in Machining of
Workpiece Bottom
4500 Ensure that any force more than stated below is not
applied.
QLRE-08
4000
3500
Workpiece
3000
2500 Max. Force ﬁ
z
jg QLRE-06]
£ 2000 4
[o2]
.g_ Fixture Plate
£
5 1500
© Allowable Force to Workpiece
Part Number
Bottom (per Clamp)
1000 QLRE-06 max.5,000N
QLRE-08 max.6,000N
500
0 20 50 80 110 140 170 200 210
Operating Load (N)

APPLICATION EXAMPLES

OML | 14.23




BJ352 WORK SUPPORT WITH CAM HANDLE

Body How To Operate

Material | S45C steel
| Finish | Black oxide

Piston

Material | SK4 steel
Finish | Black oxide
Heat treat | Quenched and tempered

Locking Pin
Material | S45C steel

Finish | Black oxide
Heat treat | Quenched and tempered

Handle

Material | SCM440 steel
Finish | Black oxide
Heat treat | Quenched and tempered

* The clamping direction can easily
be changed.

Air Outlet | ‘
N 090
-t ———— ooo-
| L 0 ¢ 0
© ]

1. Unlocked
No workpiece loaded

Recommended
Locking Position

The drawing shows

P-For Hex. Socket-Head clockwise clamping.

Cap Screws
|
% (@) 2. Workpiece Loading
c‘?) $E N Locking End Load a workpiece, and the piston lowers.
: z
| A ‘ ul o ]
= © " o
a e o—-—--
y | 30
(O] | S
|
|

Part Number A B C D E F G H J K L M N

51991836 52 |25 |24 |29 |10 |14 |19 |15 | 8 |36 | 8 |40 | 14
51991837 58 [ 30 |29 |35 |12 |18 |22 |18 |95 |39 | 10 | 50 | 16
51991838 75 | 38 | 37 |45 |16 | 283 | 256 | 24 |12 | 51 |12 | 63 | 19
51991839 85 | 45 | 42 | 52 | 19 | 26 | 30 | 28 |145| 56 | 15 | 80 | 24

Support | Piston

Cam Handles | Allowable Operating Spring | Locking |Weight

Part Number - Jg 2 Part Number Load (N) *) Cafﬁ)city Fg\rﬁe Mechanism| (@)
51991836 | M4 | M5x0.88deep | QLCA-04 80 500 | 0-6 213
51991837 | M5 | M6x110deep | QLCA-05 100 700 | 0-6 | Spiral Cam 335
51991838 | M6 |M8x1.2515deep| QLCA-06 150 900 | 0-7 [(CamAngle:d’ 738
51991839 | M8 |M10x1.515deep| QLCA-08 200 1,200 | 1-11 1,110 )
3. Clamping
*) Allowable load to operate the handle Turn the handle to lock the piston.

14.24 | OML




Adjusting Handle Locking Position

Ensure before use that the handle comes to the recommended position when the piston is locked, by adjusting the height of a support tip.

Support Tip

Y |

Hex. Nut [V

Changing Clamping Direction

Loosen the hex. socket setscrew to remove the retaining pin. Turn the handle upside down and put it in position again.

Unlocking Position

° )
Before Change / N After Change

(Clockwise Clamping) (Counterclockwise Clamping)

Retaining Pin

Socket Setscrew

The built-in disc spring prevents loosened locking.

Piston Disc Spring

Spring

OML | 14.25




MARKER PLATES

Material: Aluminum

Black Text

Red Plate

0.5mm thick

Pressure sensitive adhesive on the backside,
Two 2mm-dia. holes allow for riveting.

2R

How To Use (\ - »~_Unclamping Position
il
[t

Use to mark the handle position in the clamping mode.

Part Number
51991147

14.26 | OML




CAM HANDLES

Material [SCM440 steel

Finish |Black oxide Installing the cam handle
Heat treat |Quenched and tempered
Ring Nut / Washer
Material [S45C steel Brass Pad
Finish |Black oxide

Heat treat |Quenched and tempered

Use a brass pad and a hex. socket

K )—A setscrew included.

Application Example
L-Hex. Socket Setscrew

Brass Pad

% @ Unclamping Position
+ ) (;@3 )] 9 o ©\
L D
\f% @2 @/ Clamping Position
¢H A-A ‘ :
Bottom
Part Number A B C D E B G H J
51991858 40 10 4.5 14 12 8 12 12 2
51991859 50 12 5.5 16 14 10 15 14 2
51991860 63 14 6.5 19 16 12 18 16 3
51991861 80 18 9 24 20 15 22 20 3
Allowable Operating | Clamping | Clamping | Weight
I N 2 K L Stroke Load (N) *) Force(N) | Mechanism| (g)
51991858 | M4x0.7 |M3x0.5-3L| 1.8 80 900 26
51991859 | M5x0.8 |M3x0.5-3L| 2.3 100 1,300 Spiral Cam 46
51991860 | M6x1 M4x0.7—4L| 2.7 150 2,600 Cam Angle:4® 80
51991861 | M8x1.25 |[M4x0.7—4L| 3.3 200 4,000 154

*) Allowable load to operate the handle

OML | 14.27




SIDE CLAMPS(Standard)

With Handle

Without Handle

Base

S45C steel
| Quenched and tempered |

Material
[Finish

Material | SKH51 steel

[Finish | Quenched and tempered |

Material | SK4 steel

[Finish | Quenched and tempered |

Material | S45C steel

[Finish | Black oxide |
Ball Knob

Material | ABS resin

[Finish | Black |

How To Use

The long mounting holes allow adjusting the clamping
range. Tightening the hex. socket setscrews in the
base front allows preventing the clamp from sliding
back in the clamping mode.

Hex. Socket Setscrews

2(Clamping Range)

1 1

il
ﬁ

&@f

\ f
Hex. Socket Setscrew S

Unclamping Position
(

L-For Hex. Socket
Head Cap Screws

o -

(Throw)

2(Clamping Range)

Dimensions of Jaw Base

I

< WL
F/ B
E_|.D|
8) I|
Yo

Sze [A|B|C|D]|E F
QLSC150| 12 {10 | 6 | 6 |4 [M4x0.7 7 deep
QLSC200(| 16 [14.5| 10 | 8 | 6.5 [M6x! 9 deep

Size A B C D E F G H J K L P
QLSC150 30 42 7 | 12 45 35 12 19 [125 4 M5 31
QLSC200 40 62 10 16 65 50 16 28 | 185 5 M8 4

" Clamping | Clamping

= K e Force(N) | Mechanism
QLSC150 26 | M4x0.7-10L 3000 Spiral Cam
QLSC200 | 38 | M4x0.7-15L 4000 Cam Angle:4

With Handle Without Handle
Allowable Operating Weight Weight
Part Number| M N Load (N) %) @ Part Number (@
51991125 69 | 20 150 210 51991127 185
51991126 | 104 | 25 200 580 51991128 530

%) Allowable load to operate the handle

14.28 | OML

Note: The handle
must be ordered separately.

Note

See page 151 and 14
for performance curves.




QLPU PUSH CLAMPS(Standard)
m Application Examples

[Finish | Quenched and tempered

Albero b thrust ¢l )
Material | S45C steel ownthrust Llamping
[Finish | Quenched and tempered /
Material | S45C steel
[Finish | Black oxide

Pomello
Material | ABS resin O
[Finish [ Black

Push Clamp

With Handle Without Handle

Unclamping Position Downward Clamping

(Throw)

B
S o E(Across Flats)
£ g H . #J
S & |~ Piston
< % =i —
Y <
\
#C 4-G
#B

Sideways Clamping @)
Push Clam

. D Clamping| Clamping
Series | A |B|C (P.CD) 5| F . 3 L] b Force(N)| Mechanism

QLPU150 | 25 |25 |23 | 16 |10 | 1.7|M4x0.7 6 deep|M4x0.7 6 deep|15 1237 12| 3000 |Spiral Cam
QLPU200 | 32 |32 |30 20 |13 |25 /M6x! 9 deep M6x! 9 deep|19.5/135° 15 4000 |Cam Angle:4”

With Handle Without Handle
Allowable Operating|Weight Weight
Part Number| J N Load (N) ¥ (g) Part Number (g) YVhlfnﬂ’insta”ing 3 tlp on the pLStfnv :
lock the piston using a wrench to preven
51991129 | 20 | 695 150 180 51991131 [ 50 the clamp from eoching any fore
: The handle
51991130 | 25 103 200 370 51991132 | 310 it e ordered separately. | Note : See page 151 and 154 for performance curves.

) Allowable load to operate the handle

OML | 14.29




QLSL STANDARD HANDLES

How To Use
QLSL

Screw-In Handles

Plug-In-Handle Adaptors

Material | S45C steel

[Finish | Black oxide
Ball Knob

ABS resin
| Black

Material
[Finish

Secure the Plug-In Handle to the Adaptor using
the locking screw if necessary.

QLSL-RL

A
Plug-In Handles

Hex. Socket Setscrew(Pointed) |F

Material | S45C steel

[Finish | Black oxide

Plug-In Handle Coupled with the Adaptor

Ball Knob

Material | ABS resin
[Finish | Black

Size A

QLSL150 59
QLSL200 89

QLSL-RA
Plug-In Handles
adaptors

QLSL (Screw-in Handles)

E_A B
F —
—— &= part Number| A| 8| C | D £ e
Material | SCM440 steel

[Finish | Quenched and tempered 51991135 59120 8| 5 M5x0.8 30
51991136 | 89|25 |10 | 6 | Mox1 60

QLSL-RL(Plug-In Handles) QLSL-RA(Plug-In-Handle Adaptors)

Part Number| A |B | C|[D|E| F W?;%ht Part Number| A |B | C|D|E| F W?ég)ht

51991137 |51 /120 |13 | 6 | 11 |M5x0.8-5L 45 51991139 | 8 |10 8| 6 | 5| M5x0.8 | 7
51991138 |79 |25 15 8 |13 [M6x1 -6L] 90 51991140 |10 |12 10| 8 | 6 | M6x1 14

Performance Curves

QLSL150 Handles side Clamps QLSL200 Handles side Clamps

Push Clamps Push Clamps
300Q 400

2700 360

320

280
Pull Glamps

240

200

160!

Pull Glampss
——

600 800

/ Swing Clamps

Swing Clamps

120

Clamping Force (N)
Clamping Force (N)

400
L= /

0 20 30 60 90 120 150 0 30 50 100 150 200

Handle Operating Load (N) Handle Operating Load (N)

14.30 | OML




ADJUSTABLE-TORQUE HANDLES

How To Use

H A Turning the setscrew inside the handle
€] D B allows adjusting the torque to set
E, a desired clamping force.
LTL(Screw-In Handl Hex. Socket Setscrew K ) ;
OLTL {Screwrin Handees) ‘ Load-Setting Distance
@ aa
S

Hex. Socket Setscre Handle

[Operating-Load Setting Range]

QLTL120/QLTL120-RL : 30N to 120N
QLTL-RL(Plug-In Handles) QLTL160/QLTLT160-RL : 50N to 160N
QLTL-RL(Plug-In Handles)

A Note : Ensure that the operating load is not
‘ 5 set below the lower limit to prevent the
handle from returning to the unclamping
position due to shock load generated
during the transfer of machine pallets.

Hex. Socket Setscrew G

\\\\\L\\\ - \,71
T~ a
T~4
QLTL-RA(Plug-In-Handle Adaptors) §7 )
Operating
Load
The desired clamping force is reached
when the handle folds approximately 15°
See page 154 for the information on
m operating load vs. clamping force.
Material | SCM440 steel
[Finish [Quenched and tempered | QLTL-RA(Plug-In-Handle Adaptors)

TR A G
Material | S45C steel H._D _B

\e
[Finish ___[Black oxide | E, \

« Horizontal
‘ Y Folding
BT ) <5 © s
|6
Material | S45C steel —
‘F'n'Sh \Quenched and tempered ‘ J \ Locking Nut Note : Ensure that the handle is

set to fold horizontally.

Pt

#F,

QLTL (Screw-In Handles)

Part Number| A | B | C | D |[E | F |G |H| J K W(eég)ht
51991141 | 895 60 | 13 | 185| 65| 8 | 12 | 55 | M5x0.8| M5x0.8-16L| 90 Plugrin Handle Installation

51991142 |119 84 15 | 23 8 10 14 | 6.5 |Mex1 | M6x1 -20L | 140
QLTL—RL(Plug-In Handles

Part Number| A | B | C [ D | E | F G W(eéglht

51991143 80 | 60 | 13 6 11 | M5x0.8-5L | M5x0.8-16L 70

51991144 [ 107 | 84 | 15 8 13 | M6x1 -6L [ Méx1 -20L| 130
QLTL—RA(Plug-In-Handle Adaptors)
Part Number| A | B | C | D | E|F |G |H| J | K W‘(eé%h"
51991145 | 245| 6 13 | 185 | 6.5 8 10 | 55 [ M5x0.8 | 6 20
51991146 | 30 7 15 123 8 10 12 | 6.5 | Méx1 8 40

Plug-In Handle

Note : When installing the adaptor.
ensure that the mating face
is set horizontally.

Plug-In Handle Coupled with the Adaptor

A
Part Number A ‘ ‘
\\L{r i W

51 991 1 43 | I ,Uj\ — When coupling the handle with the adaptor.

1045 | — $a @J ensure that the handle has full contact
51 991 1 45 . - Z\ - = 7) with the adaptor's mating face. Secure

=L T the handle to the adaptor using the locking

51991144 137 T~ ;’ b screw if necessary.
51991146 B

OML | 14.31




Performance Curves

Load-Setting
Distance

\Y
Hex. Socket /

=
=

Setscrew /@/

Adjustable-Torque
Handle

Load(Force) (N)

1000

Pull Clamps (QLPD150)

900

800

700

600

500

400

300
200

100

Clamping Fo
Hamdle Operating
30/;5/5/70
05 1 2 3 4 5

Load-Setting Distance (mm)

[ce

Load

When clamping force is 900(N), load-setting distance
is bmm. and handle operating load is 120N.

100G

Swing Clamps (QLSW150)

Load-Setting Distance (mm)

900
> 800 Clamping Force
B 700
O
5 600
=
5 500
8 400
—
300
200 Handle Operating Load
120
100 =
30/§/5'/70
0
05 1 2 3 4 5
Load-Setting Distance (mm)
Side Clamps (QLSC150)
Push Clamps (QLPU150)
350
300 Clamping Force
Z
—~ 250
(]
O
—
O 200
=
8 150
@]
—
1004
500! Handle Operating Load
0 30 |35 50 70 95 120
05 1 2 3 4 5

Note : The above performance curves apply when clamps are degreased.

14.32 | OML




Pull Clamps (QLPD200)
3000
E 2500 Clamping Force
8 2000
—
o
L
5 1500
I
(e}
— 1000
500 Handle Operating Load
50 70 100 130 160
. 7o |
05 2 4 6 8
Load-Setting Distance (mm)
Swing Clamps (QLSW200)
140
120 Clamping Force
£
D 100
O
S
s 800
e}
T 600
o)
2
400
200 Handle Pperating |Load
100 130160
so 79— |
°os 2 4 6 8
Load-Setting Distance (mm)
Side Clamps (QLSC200)
Push Clamps (QLPU200)
450
400 Clamping Force
=
< 350
8 300
|-
L 250
Q 200
0
— 150
100
500 Handle Pperating |Load
50 70 100 130 160
o5 2 4 6 8
Load-Setting Distance (mm)

Note : The above performance curves apply when clamps are degreased.

OML | 14.33




I APPLICATION EXAMPLES

Pull Clamps

Clamping Pins
QLPD200-8x8

b

h
[
!

Pull Clamps
QLPD200R
Swing Clamps
QLSW200R
Swing Clamps
QLSW200L

Side Clamps

Adjustable Miniature Stops
BJ211-08001

Side Clamps
QLSC150R

14.34 | OML




APPLICATION EXAMPLES

Actual Applications of Swing Clamps

OML | 14.35




CP710

SPRING-LOADED WORK LOCATORS

NEW

Standard

Accurate

Material

S45C steel

Finitura

Black oxide

Heat Treat

Quenched and tempered

3

Locating Pin

Material

SK4 steel

Heat Treat

Quenched and tempered

Mounting Hole Dimensions

C-Hex. Socket Head

ﬁhr“—gﬁ‘q(z‘ﬁ/ Cap Screw
L i L\CP71O

Spring-Loaded
Work Locator

]

quG dA 2-C
| 1
‘ ! ! !
\
1 1 9@ 2 A x
A ‘ Gloalal o i
| Air_Outlet \ / | %z
AL oL
z N
1 | N . A
< | § Series ) Bl C
w 51991521
o (G) § 51991522 15
> 51991525 | (H7-ffective depth: 8) 16 |M4x0.7
3 { 51991526
¢C 51991523
Standard Accurate Section A-A M( ,20 10 21 |M4x0.7
51991527 H7-effective depth: 10
51991528
Standard
Part Number | A B (gC6) D E F G H J K L M
| ol 13 15 15 | 75 6 15 | 35 | 25 16 | 45 35 6
51991522 ) ' 45 7
51991523 ] ’ 4 4 55 9
" 51991524 | 8 20 20 0 8 20 0 30 22 5 75 1
Locating Hole | Support Capacity | Weight
Part Number | N Dia. %) (N) 0)
51991521 $3.81t0 ¢ 5.2 45
51991522 74 048 10 § 62 6.4 to 19.3 15
51991523 $5.8t0 ¢ 8.2 9
51991524 | *3 [ 4781 ¢102 535 10 205 %
Accurate
Part Number [,foul B | (5| D | E [ F Lo | H | g | K |[L|WM
_ 51991525 15 15 15 75 6 15 35 25 16 45 35 6
51991526 ' ' 45 7
. 20 | 20 | 20 10 8 20 | 40 | 30 | 22 | 45 2.9 g
51991528 ' 75 | 11
Locating Hole Support Capacity | Weight
51991525 $381t0 ¢ 5.2 50
51991526 | >4 | gagr0pe2 | 40193 50
51991527 $5.8 to ¢ 8.2 100
51991528 | '3 | 47810 9102 | 00205 g

¥)Within these diameter limits, locating holes can be chamfered up to Tmm x Tmm,

14.36 | OML




‘I‘ No Clearance
e,
PN \/

Spring-Loaded Work Locator,

New Method
Standard

Present Method

Use of tapered pin allows secure locating with no clearance between the locating hole

and the tapered pin.

/2\
N
.§ N
NN
N | N
N

After Setting Workpiece

Pressed Down

{
K2
£
a

o
<
=
©
(S
o
4

Before Setting Workpiece

o -
25
o 2
33
1029
[ iy
o_ &
cx 5
£53
n=<

When the workpiece is set, the tapered pin is pressed down to locate it.
The accurate style allows vertically as well as horizontally positioning

the workpiece with accuracy.

How To Use

.

OML | 14.37

Loaded Work Locator

Spring-

Swing Clamp CP710

force.

Note:In clamping, hold down the workpiece by hand to avoid lift that can be generated by spring



CP700 WORK LOCATORS

How To Use
Material | S45C steel

Finish | Black oxide Present Method
Heat Treat | Quenched and tempered

Material | SCM440 steel
Finish | Black oxide
Heat Treat | Quenched and tempered

Material | SC45 steel
Finish | Black oxide

Ball Knob

Material | ABS resin
Color | Black

Galling and damage caused

\

Our Method

Retracting

3-N-For Hex. Socket

©

g No galling caused

©

o

(o)

= 6G

% ¢8 ———0lo.04]A] The locating pin gets projected only after

T -9C U-Hex. Socket Head Setscrew [ the workpiece is set on supports.

m O | This allows loading and unloading
. the workpiece smoothly. with no galling.
: ‘ | U’l Get the locating pin projected to locate

the workpiece after it is roughly positioned
with the help of locating guides.

¢H Projected Mode

Retracted Mode

E
G M
Part Number | A | B | C | D |(gp)| F G H|J|K|L el N | P Projected Mode

51991529 48 |12 |20 |34 |28 |12 | 8 |60 |10 |17 | 5 |46 | M5 ]| 71

51991530 61 15]30 148 142 |14 |12 /80| 13|23 | 7 |63 | M6 94

<= Workpiece Centering

Allowable Operating | Max. Workpiece| Weight .
et Numzer | © ] ® s )T u Load(N)%) |Weight (kg)¥%)| (ko) Pn Gets
51991529 | 20 [100] 13 | 5 | M4x0.7-5L 150 250 0.42 T roee
51991530 25190 | 15| 8 | Méx1 -8L 200 300 1.04 ! !

1Rough Locating With ~ 2.Pin Projection 3.Completed

%) All le | he handl
) Allowable load to operate the handle Locating Guides Locating

¥¥)Max, weight that allows the locating pin to project and provide workpiece centering

14.38 | OML




EXTENDABLE WORK LOCATORS

How To Use

Materiale | S45C steel Extended Application

Finitura | Black oxide
Trattamento | Quenched and tempered

Pistone s
i Ll
Materiale | SC45 steel Fox Sooket Setsarew Adjustable

Finitura | Black oxide 2 with Brass Pad - (custom-mad

., s
‘ T (custom-made) -EF‘ ‘
With an extension shaft and a shaft holder
prepared separately, the handle control can

be easily done even when small space is
available under the workpiece.

Locating-Pin Mounting

Locating Pin
(custom-made)

3-L-For Hex. Socket
Head Cap Screws i

Hex. Socket Setscrew

Projecting End

Projected Mode

The handle position can be changed freely,
clockwise or counterclockwise.

A locating pin can easily be mounted by using a hex.
socket setscrew when the piston is fully projected
(locating pins must be prepared separately).

()
(@)
j =
O
o
(@)
=
£
3
5 . eD 28 Oloola
m

Head Setscrew Locating-Pin Head Dimensions

mEY [ LT P
<] i @DA o MI [ % rg’ 71@3 <JZ i m

|
T
i x| 15 or less
\
\

6C T R-Hex. Socket

mark%d with anI asterisk
— T considering a clearance
95 ‘ . J ‘ set between the workpiece

- ¢E | : and the locating guides.
Projected Mode When the taper angle

is determined to be smaller

than 30° (recommended),
set the clearance smaller.

$ Determine the dimensions

F
e

e G K Features
Part Number | A | B | C | D (g6) F (G7) H|J (P.C.D) R

+Can support heavy workpieces made from steel
51991533 48 1 12 120 | 50 | 28 | 12 8122127138 |M5|65 |40 | 14 or cast iron

51991534 6115130 65|42 |14 |12 | 26 | 31 | 52 | M6 |87.5] 65 | 16 .\4 100is needed

Adjustable |Alowable Operating | Max. Workpiece |Weight  -Different locating pins can be mounted depending
Part Number | Q R S Handles Load ()¢ Weight(kg)##) | (kg)  on workpiece's locating holes.
51991533 5 | M4x0.7-5L |M6x1 12 deep |FKR6X10-BR| 170 250 0.59 ;. piston stays locked when it is fully projected
51991534 6 | M5x0.8-8L | M8x1.25 17 deep |FKR8X15-BR| 210 300 1.31  or retracted until the handle is operated again.

%) Allowable load to operate the handle
*¥)Max. weight that allows the locating pin to project and provide workpiece centering

OML | 14.39




RISER BLOCKS

SegnesE, s [(Body]
G e A Material:FC300 cast iron
N Annealed
i Precision ground
® @ @ [Alignment Bushing]
Material:SUJ2 steel
® o o : Heat treated
® [Threaded Insert]
v @ @ Material:S45C steel
Heat treated
|
Q +1 4+ 4
Bt {3=F
|
‘+ a 1 ol 4"\
50,04 | A-Dia. MTP Holes
20 L]0 p/300 (B
For B-Dia, Locating Screws™ g 0@ |Al  A-Dia, MTP Holes
/ gcvag 0.01

D )
3K S i
1 | | — J
© | L& [+ L+
| g |
| |
©) (ol RO
1To.0/Am A D 0 0p/30 E
O_oo1r | g 88? Bl
\
[
g@@ﬁ\ For B-Dia, Locating Screws
o ==t |
|
© €9 9
\
A B C D No, of No, of Proper Locating Screws |Weight
Part Number = T - ad)l (1) [200)|:0@)| E | MTP Holes| Mounting Holes Cod. (kg)
51991535 160 | 210 15 10 26
“51g01535 | 12 M275 | 12 [ o o 148 " 51991863 -
51991537 160 | 210 15 10 25
2| 51991865 e
51991538 | 16 W62 16 0 Togo | M8 [ o 14 36

*MTP-hole protection plugs and eye bolts are included.
-Locate on a tooling plate or block using Locating Screws.

*MTP holes spacing : 50 * 0.02mm

14.40 | OML




o [Body]
-— E Material:FC300 cast iron
Annealed
Precision ground
. . [Alignment Bushing]
L) Material:SUJ2 steel
. . . Heat treated
. [Threaded Insert]
Material:S45C steel
Heat treated
A | [4
ooo
— _|_ —
haiNA
[
A
50 20 —g 00l B
Q.01
! Q) .
o i g s |
AR SR A [ RS
G) 3(@) O 001 |
+
1l 001 Al 1 12520.C 0.01
d 001 /1 o B
001
For C-Dia. Locating Pins For B- Socket-Head Cap Screws
Yo | & o
—] _|_ —
%’ @\
o]
@)
% 50+0. 02 37,50 04
Part Number A B (l%) V\éig)ht
51991539 M12x1.75 M12 12 6.3
51991540 M16x2 M16 16 6.2

-Locate on a tooling plate or block using a round pin and a diamond pin.

OML | 14.41




BJ633 H RISERS

85
50 19
© RG)

I I

N | [ N 11

-~/ /' k\\\\,—— P

8| 3 = — - -
| _ I~ \‘ I/ s N o
-9 | MO -

For B- Socket-head
Cap Screws

| |
(@)
[Bodly] L,H / L,“ &
BMMaterial : FC300 cast iron | |
M Annealed

B Precision ground
[Threaded Insert]

B Material : S45C steel L]
MHeat treated | //I‘]"
1 I 1

A Weight
Part Number (+0.01) B © D (kg)
51991543 100 3.2
51991544 1o5 | Mi6|Miex2 |16 38
BHow To Use
BJ530 BJ130 BJ112

Hook-Clamp Holder

Hook Clamp Screw Side Clamp

) (used as stop)
e e
- . || B
| | . A H Riser
{_! | | | ! @G]}@ L

Use to raise a workpiece or components, parallel to a tooling plate.

14.42 | OML




BJ634 H RISERS

135 A
0 . %0 19
‘ (©)) (G)
B o @& -+
77:;77774// Sl L N
[Body] & B J E—— j;ftiii T
M Material : FC300 cast iron A Léﬁ; A 1 il
M Annealed ,,<\:4< | 3 \@ /
M Precision ground ‘ } ‘
[Threaded Insert] For B- Socket-head
B Material : S45C steel c Cap Screws

HMHeat treated

A Weight
Part Number (+0.01) B © D (kg)
51991547 100 5.1
51991548 o5 | M6 Mi6x2 16 58

OML | 14.43




ALV GV ) V BLOCKS

B Material : S45C steel
BMHeat treated
MBlack oxide finish

M Precision ground

BJ440-08032 BJ440-08040
\ ‘ \ ‘
I I
6. | “‘ | 5
I e At g e
& o1of*
| — =
For M8 Socket-head 250,01 For M8 Socket-head
o5 Cap Screws 45 Cap Screws

| &
| NE
} ©) o ©)
‘ T
Locating | 2 Locating ‘ <
Bushing ~ I Bushing ~ -
(G)% ¢85 (G)% ¢85
| 1 $12h6 | } ¢ 12h6
Part Number 3 A bl
min. max, (9)
51991549 10 25 200
51991550 15 50 370

14.44 | OML



BMaterial : S45C steel
BMHeat treated

HBlack oxide finish

M Precision ground

BLOCKS

\
®
8
()
e
| For B-dia
5 Locating Screws

<
83 L
D; (G)
50
B C
Part Number A F7) Min. Max D E F
51991551 63 1 15 80 M12x1.75 2 34.72
51991552 75 100 30 deep 39.65
51991553 63 16 35 80 M16x2 o5 34.72
51991554 75 15 100 35 deep 39.65
Proper Locating Screws | Weight
Part Number Cod. (kg)
51991551 2.9
51991552 51991862 33
51991553 29
51991554 51991864 33

OML | 14.45




BJ770 METAL PROTECTION PLUGS

51991556 51991555
Part Number Thread W&i’?ht
51991555 M12 15
51991556 M16 20
57290020 D16/M12 18

-Replacement protection plugs.
-Use to keep chips and dirt out of unused MTP holes.

BJ701 HIGH PRECISION LOCATING SCREW

¢ A

Ll
E o || s
B
Material:SCM435 steel D
Heat treated
Black oxide finish
Precision ground
< -
PartNumber| A | B | c | b | E | F G H W?g',%ht
5199 18 66 23 | 45 | 57 52
5199 18 62 12 33 55 | 67 | 18 | 10 M12x1,75 | 22 59
5199 18 63 43 | 65 | 77 68
519918 64 40 | 65 | 81 134
% - 0,005
-0,013

14.46 | OML




[A] Aloor {A
Y/ 8/
2
S - | ol %
£ )
12
34 L1
L
Part Number Dgs L L1 V‘?’iig)ht
57001051 25 77 34 0.81
57001052 40 87 44 1.12
57001053 50 87 44 1.36

B CENTERING PIN FOR ALIGNING HOLE

iva %/

o ] a
Yo}
=
12
L1 40
L
Part Number Dg6 D1g6 L L1 W(iig)ht

57001061 25 20 75 35 0.23
57001062 30 20 85 45 0.34
57001063 30 35 85 45 0.40

OML | 14.47




EDGE CLAMP

Edge clamp

M12x14, complete with M12 mounting.

Body is made of case-hardened steel and blued.
Clamping hook is made of case-hardened steel and blued.
Tightening torque 75 Nm.

Mounted using strength grade 10.9 screws.

F1 | F2 |Weight
[KNI|IKNI| [9]

58990101 | M12x14 | 14 65 M12| 12 5 1530
Special versions (dimension H +£0.01) are available on request

order no. BRITE @ H:01| ©

Use:

The mechanical side clamp with holddown
effect can be used as a Clamping element
and as a fixed stop.

Moving the adjusting bolt causes hook
ends to clamp the workpiece. At the same
time, a pull-down effect occurs on the
contact surface.

Attaching a lateral stop enables the wor-
kpiece to be repeatedly clamped.

When used in conjunction with base

plate 58990103, the side clamp can also

be placed across the table groove.

In conjunction with round base plate
58990102, only along the table groove.

72

Advantages:
- compact dimensions e
- workpiece fastened rigid and secure M6
through pull-down effect

- plate tension increased to make holes
and grooves

- lateral plate tension to completely finish
surfaces without collision contour

- lateral thread enables a stop to be faste-
ned 5 Workpiece
- can be used for horizontal T
and vertical applications

- reduced tooling time and tool elements
cuts tooling costs

- diverse and variable applications

50

D 68+2
H
{65 mm)

Note:

Flat sliding block 58990104

Enables the side clamp to be accurately
positioned in the machine table groove.

14.48 | OML




BASE PLATE, ROUND

Base plate, round

M12x14, complete with fixing screws.
Housing from hardened, nitride steel.
Fastened with screws of strength class 10.9.

Use:
Used in conjunction with side clamp 58990101
to clamp slot the table groove.

Advantages:
- clamping along the groove achieved with the side clamp only,
- workpiece mounting surface increased by 30 mm.
- same external diameter as side clamp 58990101

: Weight | Note:
order no. JENECINN I T B [g] | Flat sliding block 58990104
Enables the side clamp with round base plate
58990102 | M12x14 | 14 | 30 | M12 | 910 | ¢4 pe accurately positioned in the machine table groove.
1
i - — ]
O | N |
] = :
— o |
lf_u:,':_ n -
\ ] |‘ to‘
ol 1 - ] 3
| lI :, 1S
DL B 0 68 +2
Base plate
M12x14, complete with M12 mounting.
Bodly is made of hardened and tempered alloy steel,
Mounted using strength grade 10.9 screws.
Use:
Used in conjunction with side clamp 58990101
to also clamp slot the table groove.
Advantages:
- clamping also along the groove achieved
Weight] With the lateral clamp only
Order no. Size % H (6] 9l - workpiece mounting surface increased by 30 mm.
/ 91 | - side clamp can be pushed 40 mm on the base plate
58990103 | M12x14 | 14 | 30 | M12 | 1330 | g0ialversions (dimension H £0.0) are available on request.
65
40
@) o 1]

OML | 14.49




CP106

TOE CLAMPS

Material:S45C steel

Finish

:Black oxide

Heat Treated

For Hex. Socket Head Cap Screws

i e e B s
Al Al
J
SR Washer
= N
e 3
!
\ -
‘ _
M T
|
Section A-A
H Clamping |Allowable Screw |Weight
Part Number| A| B|C |D | E|F |G () J|K|L|M Force (N) | Torque (N-m) | (g)
51991557 |35 |25 | 6 (245/15| 3 |10| 6| 7 M 8[16]10 7,000 25 100
51991558 |43 |30 | 8129 |19 | 4 |12 6| 7 Mi0|2 |11 8,500 50 185
51991559 (54 (35| 9137 | 23| 5 | 16| 8|10 M12/ 23| 12| 20,000 90 320
51991560 | 65 | 40 | 10 /45 | 25| 6 | 20| 10| 10 [M16/3.2] 14 | 40,000 200 520
How To Use and Install

¢ H +0.1

; o | +0.05

-Drill a cap-screw hole and a locking-pin

hole as specified.

-One flat washer is included.

14.50 | OML




CP107 SIDE CLAMPS

Material: S45C steel
Finish :Black oxide
Heat Treated

K-For Hex. Socket Head Cap Screws

rl'l

N
XXX
X

it
i
i
L

VNN

R

B

XA

KRR

DR
_‘_\/z
S

E

)

%

A%

8

o
““

XX
)
S

%

%

7
S

%

%

X

R
C

k=<
I
s
RS
3
RS
RS
] RS
RS
RS
RS
RS
RS
RS

KKK KARKARKAKKY

DR

G Section A-A

Part Number| A | B | C |D |E | F | G (r|j7) JIKILIM g?c“;p‘(”h% Aﬁmﬂe(ﬁ?ﬁ)w ng)ht
51991561 | 32 | 25 | 25 215/ 15| 3 |10| 6| 7 M8/ 16| 10| 7,000 25 115
51991562 | 40 |30 |32 26 | 19| 4 | 12| 6| 7 IMi0[2 | 11] 8500 50 | 225
51991563 | 50 | 35 | 38 33 | 23| 5 | 16| 8|10 IM12[2.3] 12| 20,000 90 | 39
51991564 | 60 | 40 | 45 |40 | 25| 6 | 20| 10| 10 IM163.2] 14| 40,000 200 | 640

How To Use and Install

-Drill a cap-screw hole and a locking-pin
hole as specified.
+One flat washer is included.

¢ H :8155

bl

OML | 14.51




CP100 SIDE CLAMPS

[Body]
Material: S45C steel
Finish : Black oxide
Heat Treated

[Arm]
Material: S45C steel
Finish : Black oxide
[Jaw]
Material: SKH51 steel
Finish : Black oxide
Heat Treated

S-Ball Thumb Screw

N

OF
=l

Y

o
s ;

z

T-Hex. Socket-Head Setscrew,

14.52 | OML




Part Number | A B @© D E F G H J K L M
51991565 62 | 22 40 14 20 3 14 | 3 251032 12 | 14 8.5
51991566 78 | 25 50 18 25 4 18 | 3.7 [32t0 40 16 | 175 | 11
51991567 93 | 32 60 21 30 5 21 45 140 to 48] 20 | 20 13
51991568 124 | 38 80 28 40 6 27 | 6 1481063 25 | 26 17

Part Number| N | P | R | S T | ) | o] gy
51991565 5 | 14 755 |M 8x1.25-20L | M4x0.7-8L 6,000 15 0.23
51991566 7 1175 | 95 |M10x1.5-25L | M5x0.8-10L 10,000 30 0.41
51991567 8 |2 113 | M12x1.75-30L | M6x1-12L 17,000 65 0.75
51991568 10 | 28 | 151 |M16x2-40L | M8x1.25-16L | 25,000 130 1.57

How To Use and Install

Clamping Spacs

Fixture Plate

Smaller clamping space allows clamping a larger workpiece.

Hex. Socket Head Cap Screw

Hex. Socket-Head Setscrew

The hex. socket-head setscrew works to prevent the clamp from
sliding back if screwed in until it contacts the cap screw.

OML | 14.53




CP101 SIDE CLAMPS

[Body]

Material: S45C steel

Finish : Black oxide

[Arm]

Material: S45C steel

Finish : Black oxide
Heat Treated

[Jaw]

Material: SKH51 steel

Finish : Black oxide

Heat Treated

Washer x 2

P-Ball Thumb Screw

]
‘ N
"ry
|
Hﬁ
|

R-Hex. Socket-Head Setscrew

14.54 | OML




Part Number| A B C D E F G H J K L

51991569 40 50 40 20 6 35 10 53 | 12 21 85
51991570 50 65 50 25 8 45 12 7.1 16 27 | 1
51991571 60 70 60 30 10 50 15 8 20 31 13
51991572 80 90 80 40 15 65 20 | 102 | 25 39 | 17

Part Number| M | N P R F%f?ep'("ﬁ) Aﬁgﬂe(ﬁ?ﬁ' W(ek'g;‘ t
51991569 | 32 | 625 | M8x1.2535. | M4x0.7-10L | 11,000 25 033
51991570 | 40 | 74 | M0x1540L | Mdx0.7-12L | 18,000 50 066
51991571 | 48 | 91 | Mi2x1.7550L | M5x0.8-15L | 25,000 % 1.06
51991572 | 64 | 115 | Mi6x2-60L | Mex1-20L | 46,000 200 238

How To Install

Hex, Socket-Head Setscrew " \_Hex, Socket-Head Cap Screw

The hex. socket-head setscrew works to
prevent the clamp from sliding back if
screwedin until it contacts the cap screw.

-Two flat washers are included.

OML | 14.55




CP102

WIDE-JAW SIDE CLAMPS

[Body]
Material: S45C steel
Finish : Black oxide
[Arm]
Material: S45C steel
Finish : Black oxide
Heat Treated
[Jaw]
Material: SKH51 steel
Finish : Black oxide
Heat Treated
(SOWIVEL) J-For Hex. Socket
\.5,_1 # 5° Head Cap Screws

@)

° 1 | || ° | __‘|_£|~ | | |
% ! E { m r ! i = I | \ i
L 4 Tl 2\ 3“]‘"‘ i TR
: : = LT
| ®) 1 ! : 1 : 0 1 :
| \ ! ! 1 i ! i 0
Ri* it 17
1 ] ARSI
N-Hex. Socket-Head Setscrew ! A !
Clamping [Allowable Screw|Weight
Part Number| A| B| C|D|E|F | G|H|J|K]|L M N Part Number Force (N)| Torque (N-m) | (kg)
51991573 | 45 | 45|40 |30 | 25 |53 ] 12 |31 [M8] 32 |625|M 8x1.25-35L |M4x0.7-4L 51991573 | 11,000 25 0.55
51991574 | 55 | 55 | 50 | 40 | 30 [ 7.1 | 16 | 39 [M10| 40 |74 |M10x1.5 -40L |M4x0.7-4L 51991574 | 18,000 50 1
51991575 [ 65 | 65|60 | 45 | 35 [8 |20 | 47 [M12] 48 |91 |M12x1.75-50L [M5x0.8-5L 51991575 | 25,000 2 1.69

How To Use

The jaw swivels to fit an unmachined surface of the workpiece.

14.56 | OML




[Body]
Material: SCM440 steel
Finish : Black oxide
Heat Treated
[Jaw]
Material: SCM440 steel
Finish : Black oxide
Heat treated on edge
Serrated Ground
A
%
5 S — - wam
L-For Hex. Socket /
Head Cap Screws
| - < |
Lo J I |  Serrated
‘I“ 1 1T 1T 1 [»I‘ ﬂ O
| | |
LTW‘"TJ - ‘ﬁi Ground
Serrated Clamping | Allowable Screw |Weight
Part Number AIBICIDIEIFIGIHIJIKILIM Force (N)| Torque (N'm) | (g)
51991576 [39.5| 65| 7.5(25|45|16| 7|15 7| 4 M 8/ 25 4,000 8 160
51991578 [60 | 85/10 |40 |60 |22 |12 |2 9| 6 M12 35 9,000 26 450
51991580 [77 |100(14 |50 /70 (30| 14/2 [13]| 8 M16/40| 17,000 60 900
Ground Clamping | Allowable Screw |Weight
Part Number soE LD EE A S Force (N)| Torque (N-m) (9)
51991577 [39.5 65| 7.5(25|45|16| 7|15 7 4 M 8/ 25 4,000 8 160
51991579 [60 | 85/10 |40 |60 |22 |12 |2 9|6 M12/35 9,000 26 450
51991581 [77 10014 |50 7030|1412 |13] 8 M16/40| 17,000 60 900

OML | 14.57




CP105

SIDE CLAMPS

[Body & Jaw Carrier]
Material: SCM440 steel

Finish : Black oxide
Heat treated
[Jaw]
Material: SCM440 steel
Finish : Black oxide
Heat treated on edge
Serrated Ground
A
)
> —- — L m
V4
L-For Hex. Socket /
Head Cap Screws
L Serrated
Ground

Serrated i i
Pt Nurmber| A|B | C| D E[F[G|H[J|K L M F%'fgp‘(”h% e W?é%ht
51991582 [39.5| 65/19.525 45| 16| 7 |15] 7|4 M8/ 25| 4,000 8 180
51991584 (60 | 85129 |40 |60 (22 12|12 | 9|6 M12 35 9,000 26 500
51991586 (77 1100138 [5070/30 142 |13| 8 M16/ 40| 17,000 60 1,010
Ground i i
Part Number f e nb e E R AL F(;I?(r:zpl(r;\% Aﬁgréaube]e(’i":fzf)w W((aglz%ht
51991583 [39.5 65(19.5/25 45|16 7|15 7| 4 M 8 25 4,000 8 180
51991585 |60 | 8529 |40 /60|22 |12]2 | 9| 6 M12 35 9,000 26 500
51991587 |77 |100/38 |50 /7030|142 |13| 8 M16/40| 17,000 60 1,010

14.58 | OML




BJ101

ADJUSTABLE TOE CLAMPS

[Body]
Material:FCM440 steel
Heat treated
Black oxide finish

[Sliding Nose]
Material:SCM440 steel
Heat treated (on edge)
Black oxide finish
Precision ground or serrated

Serrated Ground
A
D E
| L)
S e O SEEL
| L)
Washer
G /ﬁgzx\
S |
o P i i =
Kg/ /,/ ( LT,,‘ 7777777777 }‘DT L Serrated
@) / = = | -l
>
P r
/ ( L D} Ground
Serrated Weight
Part Numpber | A~ | B | ¢ | D | E | F | G| HJ Kl L | Mg
51991588 72| 25 | 751455 | 165 | 16 7 114 | 85| 4 7 115 | 150
51991590 105 35 |10 |65 [265) 22 | 12 | 20 | 13 6 9 |2 400
51991592 137 | 40 |14 1895130 30 | 14 | 26 |17 8 13 | 2 830
Ground Weight
Part Number A B C D E F G H J K L M ©
51991589 72| 25 | 75455165 | 16 7 114 | 85| 4 7 | 15 | 150
51991591 105 35 |10 |65 [265) 22 | 12 | 20 | 13 6 9 |2 400
51991593 137 | 40 | 14 |895 |30 30 | 14 ]2 |17 8 1312 830
Part Number When Used Singularly When Used with Slide Stop Weight
Clamping Force (N) | Allowable Screw Torque (Nem) | Clamping Force (N) | Allowable Screw Torque (Nem) | (g)
51991588
T 51991589 | 3,600 6,5 4,000 8 150
51991590
51991501 | 7,400 19 10,400 26 400
51991592
T 51991593 | 11,700 32 24,000 60 830

OML | 14.59




BJ102

ADJUSTABLE SIDE CLAMPS

[Body & Jaw Carrier]
Material:FCM440 steel

Heat treated
Black oxide finish

[Jaw]

Heat treated
Black oxide finish

Material:SCM440 steel

Serrated Ground Precision ground or serrated
A
D E
| |
N 1 @ 7 }} _ —’ I m
\ \ \ Y.
Washer
=y by
g“\\ ﬁ
| © LT
\ y 4 | |
il B —
’ O S | |
e ( LT,,L ,,,,,,,,,, @ ! LL|  Serrated
‘ F ! T T } 1
\ T /
| =
|
| —— T
@ ‘ @ B ( L D | Ground
\ T / ; |
Serrated Weight
R A B C D E F G H J K L M @
51991594 72 | 25 | 195|455 | 165 | 16 7 14 85| 4 7 1.5 160
51991596 105 | 35 | 29 65 265 | 22 12 20 | 13 6 9 | 2 440
51991598 137 | 40 | 38 89.5 | 30 30 14 26 | 17 8 13 12 920
Ground Weight
Part Number A B C D E F G H J K L M ®)
51991595 72 | 25 | 195|455 | 165 | 16 7 14 85| 4 7 1.5 160
51991597 105 | 35 | 29 65 265 | 22 12 20 |13 6 9 |2 440
51991599 137 | 40 | 38 89.5 | 30 30 14 26 | 17 8 13 [ 2 920
Clamping Allowable Screw Weight
Part Number Force (N) *) Torque (N+m) *) (@)
51991594
51991595 3,600 6,5 160
51991596
51991597 | 7,400 19 440
51991598
51991599 | 11,700 32 920

Note *) The stated values are effective when used singularly (not mounted on a serrated adaptor).

14.60 | OML



ADJUSTABLE TOE STOPS

[Body]
EMaterial : FCM440 steel
M Black oxide finish

[Jaw]
BWMaterial : SCM440 steel
M Heat treated
MBlack oxide finish
WPrecision serrated

Serrated

Washer

L Serrated

PartNumber| A | B | C | D | E | F | G| H| J|K Wfég)ht

51991600 | 60 | 25 75 | 335 | 165 | 16 7 14 | 85 | 15 | 120
51991601 | 90 | 35 | 10 50 | 265 | 22 9 20 |13 2 330
51991602 | 115 | 40 | 14 67.5 | 30 30 13 26 |17 2 660

Note *) The stated values are effective when used singularly (not mounted on a serrated adaptor).
- Stop that mounts on a BJ500. Rack Block to prevent backslide.

OML | 14.61




Serrated

ADJUSTABLE SIDE STOPS

[Body]
EMaterial : FCM440 steel
MBlack oxide finish

[Jaw]
EMaterial : SCM440 steel
WHeat treated
EBlack oxide finish
MPrecision serrated

A
D E
M | ‘ 1 N\
o)
| & =
Washer
I — L

‘ |
i } I I
j © i L ,L ,,,,,,,,, i rJ Serrated
t t I | |
e
PartNumber| A | B | ¢ | D | E| F | 6| H| J|K Wfég)ht
51991603 | 50 | 25 | 195 | 235 | 165 | 16 14 | 85 15 | 100
51991604 | 75 | 35 | 29 |35 | 265| 22 | 9 | 20 |13 | 2 | 310
51991605 | 95 | 40 | 38 | 475 |30 | 30 | 13 | 26 |17 | 2 | 625

Note *) The stated values are effective when used singularly (not mounted on a serrated adaptor).

- Stop that mounts on a BJ500, Rack Block to prevent backslide.

14.62 | OML




C For G- Socket-head
E Cap Screw
I %
e 7@' Aég//i - T ] D
F H
W Material : S45C steel K ‘““#‘7 3
EBlack oxide finish 5 ‘ ! ‘
Y| | <
VD | o
I I ‘ I
Part Number| A | B | c | D | E| F | G H J V"(‘iig)ht
51991606 16 7 Throudh 0.13
51991607 | 20 | 9 N 047
51991608 25 | 13 0.21
51991609 | a2 | a0 | 0 | % | 25 | 125 M8 M 8x1.25 . ool
51991610 | 40 | 28 0.33
51991611 50 | 38 0.42
51991612 20 5 0.34
51991613 25 | 10 Through| 0.45
51991614 | 32 85 | 35 | 50 | 20 | M12 |M12x1.75 0.57
51991615 | 40 | 12 30 | 07
51991616 50 35 0.9
51991617 25 6 Throuah 0.46
51991618 | 32 | 13 I 062
51991619 | 40 90 | 40 | 50 | 25 | M16 | M16x2 30 | 078
51991620 50 | 15 35 0.98
51991621 63 1.24
HHow To Use

BJ101
Adjustable Toe Clamp

Serrated riser that prevents BJ101/BJ102 clamps

and BJ201/BJ202 stops from slipping backward.

OML | 14.63




CP110/CP111

BLOCK PUSH CLAMPS

CP110
(Cap Screw Style)

[Body]

Material: S45C steel
Finish : Black oxide

[Piston]

Material: S45C steel
Finish : Black oxide

Heat Treated

[Knurled Knob]
Material: S45C steel
Finish : Black oxide

N-Mounting Holes

T

P-Hex. Socket Head

@Q@V Cap Screw

¢S
Roll-Pin Holes

CP110
(Cap Screw Style) | H |
S e
8- @ T e . m
(D o \i\ }‘} \i\ —
\‘\ 1;1 } }
Part Number A|B|C|D|E|F|G|H]|J (K LIM/[N P R S| T|uU
-0.3
51991622 35 |24 | 95] 7520 | 26 | 14| 8| 14102 | 7 [M5|M8125 |M5:08 8deep| 4 | 24 | 14
51991623 45 129 |12 |10 | 25 |35 |16 |10 | 18 | 12 | 2 8 |[M6|MI0x1.5 |M6xt 10deep| 4 | 24 | 14
51991624 55 | 31 (15 [125]30 | 40 | 18 | 12 | 20 [ 14 [ 25| 8 |M 8[Mi2x1.75 |M 8x1.25 12 deep| 6 | 30 | 17
51991625 70 (37 [18 [15 [40 |50 (201625 193 | 8 [Mi0[MI6x2  [Mi0xi5 15deep| 8 | 36 | 20

14.64 | OML




Cap Screw Style

Clamping|Allowable Screw |Weight
Force (N)| Torque (N'-m) | (g)

Part Number

51991622 6,200 10 160
51991623 11,000 22 340
51991624 | 20,000 48 540
51991625 | 37,000 121 1,050

Note : The stated values of both "Clamping Force” and "Allowable Screw Torque” are based on the manual operation of the knob.

How To Use CP112 CP110
Block-Push-Clamp V-Pad Block Push Clamp

58990201
Fixed V-Block

Conical Pad (Custom-made)

Depending on workpiece shapes, a custom pad can mount on the Block Push Clamp.

CP112 MOVABLE BLOCK PUSH CLAMP V-PADS

c For J-Hex. Socket
‘ Head Cap Screw
|

Material: S45C steel ‘
Finish : Black oxide w
Heat treated

Part Number | A | B | C (B)] ElF|c —™H ) |Weight

0 min, | max (@)
51991630 | 38 | 19 | 16 | 10 | 15 | 35 | 92| 15 | 60| M 5 65
51991631 | 50 | 24 | 19 | 12 | 15 | 45 |11 | 20 | 80| M 6 125
51991632 | 65 | 32 | 22 | 14 | 2 |55 |15 | 25 | 100 | M 8 250
51991633 8 | 25 | 19 | 25 | 75 | 187 | 30 | 120 | M10| 390

CP112 FIXED V-BLOCK PUSH CLAMP

For F-Hex. Socket
Head Cap Screw

= ] .

Material: S45C steel i _@ 4 y
Finish :Black oxide mf g

Heat treated

H Weight
min | max | (Kg)
58990201 38 | 25 |16 | 8 8 | M6 |15 | 60 | 0.09
58990202 50 | 35 |19 |10 [ 10 | M8 | 20 | 80 0.19
58990203 65 | 40 | 22 |12 | 12 |M10| 25 | 100 | 0.30
58990204 75 | 50 |25 |20 | 15 |M12] 30 | 120 | 0.52

Part Number A B C D E F

OML | 14.65




BJ112 REVERSE SCREW SIDE CLAMPS

For A- Socket-head Cap Screws

=

zj}E_l

z —|—-F

4

[Body]
B Material : S45C steel
HMBlack oxide finish

[Screw]
B Material : SCM435 steel
MHeat treated
HBlack oxide finish

Part Number | A B C|D|E|F|G|H|J|K|L|M W(f(ig;“
51991634 | M8 |M8x12550L] 18 | 7 | 55 | 45 | 30 | 20 | 3 | 20 | 45 | 25 | 045

51991636 M16 | M16x2 -80L| 27 10 90 75 50 33 5 33 85 50 23

M Application Examples

Casting Surfac
V4
~

2 D ’\"

/M Casting Surface
. " /_g_
s I L

Y

BJ112 8

/ Reverse Screw ~
Side Clamp >

Machined Surface

T BJ30 A =
2/ Screw Jack 2/‘ Miniature Jack
Casting Surface Casting Surface

14.66 | OML




HOOK CLAMPS

Material:SCM435 steel

Heat treated M- Hex.
Black oxide finish Socket-Head Cap Screw
Precision ground #B_KG)

-Use with a BJ530 Hook-Clamp Holder.

How To Use

(Reference)
M8 Size M10 Size M12 Size M16 Size
#1858 5% # 2000 & # 258 % # 328 2
C ‘ : ! | b}
p) i | ‘ ‘ 0
i | RS |9
‘ 1 |
S H | |
— " I x
M8x1. 25 ‘ ‘ Q ‘ Q
Miox1.5/ | | |
MI2x1.75/ Y M16x2 /
Hook Clamps can be plugged directly into custom
blocks with receiving holes as specified above,
B Allowable Screw | Weight
Part Number A () © D | E F | G H J K L M Torque (N-m) (Kg)
51991637 20 15 38 90
51991638 25 | 18 | 37 | 58 | 22 | 10 | 23 12 - - M8x1.25 - 50L 33 100
51991639 30 20 30 105
51991640 | 30 | 55 | 54 | 75 | 25 | 12 | 30 | 15 29 _ - M10x1.5 - 65L 38 165
51991641 40 25 32 180
51991642 40 66 16 60 305
51991643 50 | 25 68 92 | 32 | 18 | 39 18 25 - - M12x1.75 - 80L 50 360
51991644 60 46 380
51991645 40 66 16 31 60 295
51991646 50 | 25 68 92 | 32 | 18 | 39 18 25 | 38 | M12x1.75 M12x1.75 - 80L 50 350
51991647 60 46 46 370
51991648 40 170 530
51991649 | 50 | 32 | 75 | 101 |36 |22 |39 | 21 | 25 | — - M16x2 -  85L 150 580
51991650 60 130 615
51991651 50 38 150 565
32 | 75 [101 ] 36 | 22 | 39 21 | 25 -
51991652 | 60 46 | 12175 | M16x2- - 8SL 130 610

OML | 14.67




HOOK CLAMPS WITH SPRING

wl m - - (@]
©
(@)}
&
M- Hex. Socket-Head o
Cap Screw — £
[ ! 3
I S £
\ T e
Materia:SCM435 steel i ] &)
Heat treated | ‘ | . 1
Black oxide finish }
Precision ground ‘ L
T (|
<X z|
|
|
‘ -
| L
T
Part Number | A B © D B F G H J K L
51991655 30 22 10 35 22 12 10 68 | 19 20 M 8x1.25
51991659 40 16 107
51991660 50 32 18 50 36 15 30 25 M12x1.75

51991661 | 60 18 109

51991665 40
51991666 50 | 36 | 22 | 50 | 36 | 21 | 15 | 116 | 30 | 25 | Mi6x2
51991667 60

Part Number M N Clamp(|r'1\gl;)F0rce A#z:gjie ('S\‘CI:]\)N W(eégght
51991655 M 8x1.25-30L 6 6,700 20 135
51991659 13,500 450
51991660 M12x1.75-45L | 10 12,600 45 480
51991661 11,700 520
51991665 13,400 630
51991666 Mi6x2 -55L | 10 12,400 60 680
51991667 12,000 740

14.68 | OML




HOOK CLAMP HOLDERS

: I i L
’. Ll O il Zn
SR =
\
D J
A
Material:S45C steel B
Black oxide finish
© Allowable Screw |Weight

Part Number| A | B (F7) D|E|F G H J Torque (N-m) | (g)

51991671 55| 74118 | 25 | 22 | 24 |M 8x1.25 [M 8x1.25 | 20 30 140

51991672 63| 93 21 400

51991673 801110 20 | 30 | 30 | 32 [M12x1.75 |M10x1.5 23 40 500

51991674 80110 1,080

51991675 | 100130 25| 40 | 36 | 40 [M12x1.75 |M12x1.75 | 25 50 1,280

51991676 80110 1,690

51991677 | 100130 32 | 40 | 46 | 50 [M16x2 M16x2 25 80 72000
¥) The above screw torque values are effective for istallation of Hook Clamps.

How To Use

BJ130

Hook Clamp

\ BJ530
Hook-Clamp Holder

BJ6OO
Riser Cylinder

Holder that is specifically designed to receive a
BJ130 Hook Clamp.

OML | 14.69




RISER CYLINDERS

Material: SCM435 steel (Mini)

Heat treated(Mini)
Black oxide finish

S45C steel(Standard&heavy)

Part Number | A | B | C | D E F W‘(zg)ht
51991678 32 | 5 105
51991679 20 | 59 135
51991680 50 | 69 170
51991681 65 | 84 | 22 | 24 [M&I25 20 T,
51991684 50 | 80 480
51991685 65 | 95 640
51991686 80 | 110 | 36 | 40 |Mi2xi75 | 35 | 780
51991687 | 100 | 130 980
51991688 | 125 | 155 1,230
51991691 50 80 770
51991692 65 | 95 1,000
51991693 80 | 110 | 46 | 50 |Miex2 35 | 1230
51991694 | 100 | 130 1,540
51991695 | 125 | 155 1,920

14.70 | OML




ADJUSTABLE STOPS

A-Adjustment Screw

THEOE

(For Mini) J

[Body]
Material:S45C steel
Black oxide finish

[Adjustment Screw]
Material:Steel
Heat treated
Black oxide finish

s
|

|
0

S | I
I
Il
I
L

O m
J D
T
B I
|
For G- Socket-Head
Cap Screw
Part Number A B C D B F G H J Weight

(9)

51991698 M 8x1.25 32 25 20 40 21 | M8 7 50 95
51991699 M12x1.75 50 40 32 60 36 | M12 | 12 | 100 500
51991700 M16x2 63 50 40 80 46 | M16 | 14 | 100 | 1,200

-Side stop that offers three options of screw height.
-Can also be used as auxiliary clamps.

OML | 14.71




BJ211 ADJUSTABLE MINIATURE STOPS

Heat treated

Material:S45C steel

o B

For G- Hex, Socket Screw

-
=
\J

Black oxide finish
F
Part Number | A | B | C | D | E| F G W‘(’g)ht
51991213 | 40 | 56| 48 | 40 | 13 M 8x125 |M 8x1.25 | 60
51991214 | 50 | 70| 60 | 50 | 17 |Mi0xi5 |Mi0x15 | 120
51991215 | 60 | 84| 72 | 60 | 19 |Mi2x1.75 |Mi2x1.75 | 190
51991216 | 80 | 112 | 96 | 80 | 24 Mi6x2 |Mix2 | 410

Application Examples

BJ130

Hook Clamp

BJ530

Hook-Clamp Holder

Support

\BJ21 1
Adjustable Miniature Stop

Miniature size allows use in small space,

Knurled Nut

L —

=

BJ211
Adjustable Miniature Stop

)

Can be used as auxiliary clamps.

14.72 | OML

Extension Bolt




BJ214 SCREW STOP BUTTONS

H-Hex. Socket-Head Setscrew

J-Hex. Socket-Head Setscrew
(with brass pad at the end)

Material: S45C steel :::::;::,(_\,
Finish :Black oxide E S e il i | A
Heat treated :::::F:::* = QO
o~ —
|
| a)
|
c eF

Part Number | A | B | c | D | E| F| G H J W’fg)ht
51991701 | 30 |13 | 7 | 10 | 19 | 7 |M8xi25 M6xi  |M5:08-12L | 40
51991702 | 40 | 165| 85| 12 | 22 | 8 |Mioxi5 |M 8x1.25 |M5:08-42L | 75
51991703 | 50 |21 |11 | 15 | 24 | 9 |Mi2xi.75 IM10x15 |Mext -20L | 120
51991704 | 60 |23 |12 | 20 | 30 | 12 |Mi6x2  IM12x1.75 IMext -20L | 210

How To Use

J-Hex, Socket-Head Setscrew
(with brass pad at the end)

E? S

%) Minimize this clearance
when installing.

Installation Information

1. Screw in the body completely.

2. Screw back the body and set the adjustment screw.

3. Tighten up the hex. socket-head setscrew to lock
the body.

-Use to stop a low-profile workpiece.

OML | 14.73




BJ360

COMPACT WORK SUPPORTS

How To Use

BJ360

) Compact Work Support

Extension Bolt

2 #A L,
[
& #$B
v |
- J-Socket-Head Ball Screw
o |
[Body] o T
Material: S45C steel N =
Finish :Black oxide 77[ -
[PiStOhl = ] Knurled Thumb Knob
Material: SK4 steel | H
Finish :Black oxide
Heat treated Note) The socket-head ball screw is glued to the knurled thumb knob.
Part Number | A B C D E F G H J K
51991148 15 6 18 3 16 | 13 | M 8x1.25 | M4x0.7-16L | 16
51991149 19 8 22 6 s 20 | 17 | M10x1.5 M5x0.8-20L | 20
51991150 22 | 10 | 25 24 | 19 | Mi12x1.75 |[M6x1 -25L | 24
Piston Spring| Support Capacity| Weight
REIENEDe M Force (N)|  (N) (9)
51991148 | 13.2 1.5 t0 3.0 200 36
51991149 | 16.3 | M4x0.7-6L 18 10 3.0 300 72
51991150 | 22.3 ' ' 400 150

14.74 | OML




BJ350 WORK SUPPORTS

Application Example

K For N- Socket-Head ||  —--—i—i—_= ?
Cap Screws By i
r__’ NS Hex. Nut
— ] @ - m BJ350
Work Support
M3 Cheese Head Screw ~ > % E E
[Bodly] f—“¢E
Material:S45C steel M- Ball Thumb Screw k# ‘—f Ideal for preventing the workpiece
Black oxide finish i from chattering and deflecting.
[Pﬁf{;]riaks}<4 steel w ol © 'The positive Iocking_ mechanism offers
Heat treated o ‘ o high support capacities.
Black oxide finish : -The above support capacity values
are reached when the ball thumb screw
is fully tightened.
Part Number A B © D B F G H J K
51991152 38 19 29 35 12 15 15 17.6 13 8

51991153 50 22 37 47 16 20 20 21.1 16 10
51991154 65 25 42 52 19 25 20 246 | 185 15
51991155 75 32 47 57 25 30 27 283 | 25 15

Part Number | L M| N | oty 0| Farce | (@
51991152 | M 6x1 10 deep M 6x1  -16L| M 6 4,000 Oto 6 150
51991153 |M 8x1.25 15 deep |M 8x1.25 -20L| M 8 6,000 Oto 7 285
51991154 |M10x1.5 15 deep |M10x1.5 -25L| M10 7,500 1 to 11 480
51991155 | M12x1.75 20 deep |M12x1.75 -30L| M12 9,000 1to 11 800

BJ351 WORK SUPPORT CYLINDERS

Application Example
H-Across
2 Flats Hex. Wrench
=) )i
M- Socket Head Cap L
ﬂw Setscrew '
F 2A
Lo mb s |1 K 2B
il -
=1\ oS |
)
] ! o
[Bodly] Z L o ‘
Material:S45C steel . A
Black oxide finish W \ ‘ Ideal for preventing the workpiece
[Piston] IMounting S u w from chattering and deflecting.
-viountini crew, (—

Material:SK4 steel
Heat treated
Black oxide finish

Section A-A -The positive locking mechanism offers
high support capacities.

To install, insert a hex. wrench through the piston |-The above support capacity values
into the mounting screw. are reached when the ball thumb screw

is fully tightened.

Part Number A B C D E F G H J K
51991156 28 14 33 39 10 13.1 22.2 4 M 6x1 M 6x1 12 deep
51991157 35 19 42 52 14 17.2 27.5 5 M 8x1.25 M 8x1.25 16 deep
51991158 42 22 50 - 14 23.8 34 6 M 10x1.5 M 10x1.5 20 deep
51991159 50 26 60 70 16 28.1 421 8 M 12x1.75 M 12x1.75 24 deep
51991160 60 33 70 80 22 26.6 47.4 10 M 16x2 M 16x2 32 deep

Part Number L M Support capacity (N) Piston Spring Force (N) Weight (g)
51991156 M 6x1 -16L M4x0.7 - 8L 4.000 10 ~ 22 150
51991157 M 8x1.25  -20L M4x0.7 - 8L 6.000 10 ~ 27 300
51991158 M 10x1.5 -25L - 7.500 14 ~ 28 540
51991159 M 12x1.75 -30L M5x0.8 - 12L 9.000 15~ 30 865
51991160 M 16x2 -30L M5x0.8 - 12L 9.000 15~ 35 1390

OML | 14.75




CP300 EXTENDABLE WORK SUPPORTS

[Body]
Material: S45C steel
Finish : Black oxide

[Piston & Locking Pin]
Material: SK4 steel
Finish : Black oxide

Heat Treated

[Spindle]

Material: S45C steel
Finish : Black oxide
Heat Treated

[Piston Plug]

Material: S45C steel
Finish : Black oxide

[Knob]

Material: FC200 cast iron
Finish : Chrome plated

A M
M3x0.5-5L Retaining Screws K H
H/2 ‘
HO N ©
oo — ) —— 4=z
to Q
# P Hand Knob

¢ G
¢ F

|
T
1
I
.
I
I (-
o 1 @
Iy
I
I
I
“
I
|
T

V-Hex. Socket-Head Setscrew/

Turning the hand knob clockwise lets the locking pin move upward
and turning it counterclockwise lets the locking pin move downward.

14.76 | OML




Part Number A|B|C | D E|F|G|H|J|K|L|M|N|P|R|S

51991709 8040 |31 | 40| 4 |16 |25 |40 | 25 |10 |18 | 22 |32 |55| 8 235
51991710 95,50 39|50 | 5 |20]32]50|30|10|23 25|40 65| 9 |28
51991711 115160 [ 47 | 60 | 6 | 24 |38 |60 |40 | 15128 32|50 |9 |12 355

portumber | T | 0 [ v ] S e e
51991709 M 8x1.25 12 deep |M 8x1.25 | M4x0.7-10L 700 1 0.82
51991710 M10x1.5 15 deep | M10x1.5 M4x0.7-10L 800 1.5 1.52
51991711 M12x1.75 18 deep |M12x1.75 | M5x0.8-16L 900 2 2.67

Note : The stated values of both "Support Capacity” and "Allowable Screw Torque” are based on the
manual operation of the hand knob.

How To Use

Cohventional Method

Cumbersome height adjustment with a wrench ‘

1
Limited positioning area Lrg‘gf L

Extendable Work Support Method

Easy height adjustment with a hand knob
Flexible positioning

Hand Knob

|

Support Tip (custom-made) /yﬁ\

Extention Spindle Spindle Holder
(Custom-made) (Custom-made)

-Connecting an extention spindle allows adjusting the part height with ease.
-Provide a tapped hole for the extention spindle for connection, as specified in chart above,

OML | 14.77




14.78 | OML

BJ330 SCREW JACKS

[Body]
Material:S45C steel
Black oxide finish
[Bolt]
Material:SCM435 steel
Heat treated
Black oxide finish

Load Capacity | Weight
Part Number | A B C D E F G (N) @
51991712 40 | 10 350
51991713 50 | 20 | 30 | 40 | 36 | 30 |[Mi2x1.75 31,800 420
51991714 70 | 40 570
51991718 50 | 20 430
51991719 70 | 40 30 | 40 | 36 | 30 |M16x2 31,800 580

BJ733 SCREW-JACK TIP

Material:S45C steel
Heat treated
Black oxide finish

¢30
|
C T "
| =
R30 ‘
# 1096

Weight
Part Number ©
51991722 50




MINIATURE JACKS

How To Use

BJ331

[

— g Hefififf [@]
e |

\Rest Pad

e

BJ331
Miniature Jack

Material:S45C steel
Heat treated

Black oxide finish
Hardness:RC33 - 39

Part Number | A B C D E F G Wt(sgg)ht
51991161 37| 6 o
51991162 6 43| 12 6 | 256 | 13 | M 6xl m
51991163 45 | 8 w0
51991164 | O | 53| 16 | | | 0 |17 M T,
51991165 58 | 10 e
51991166 10 g o | 8| 40 | 19 MiOXI5 -
51991167 72| 12 110
51991168 12 [Ty [ o | 10| 50 | 24 [M12x175 120
51991169 89 | 16 | a0
51991170 16 5 | 3o | 13| 60 | 30 |MI6x2 25
How To Use
Screw
Support
A /_EL
B
— 3G % 1
ol \ & | L[] D
2|\ ElAcross 2 Flats) %
BJ332
Material: S45C steel Jack Screw
Finish : Black oxide
Part Number | A B C D E E G W(egijg);ht

51991173 30 | 20 20
51991174 | 40 | 30 | 5 13 | M8x125 M6x1 6 deep
51991175 B/ | 24 5
51991176 48 4 17 6 17 | M10x1.5 |M 8x1.25 8 deep 50
51991177 51 | 33 95
51991178 66 48 22 7 22 | M12x1.75 |M10x1.5 10 deep 10
51991179 62 | 40 B
51991180 77 55 27 10 27 | M16x2 M12x1.75 12 deep 210

OML | 14.79




BJ333

SMALL SCREW JACKS

A c
- @ ] :7 ] —
- G
Material: S45C steel
Finish :Black oxide
Part Number| A | B C D E G H Wt(agg)ht
51991181 40 | 10 55
51991182 50 | 20 12 16 13 13 | M 8 x1.25 |M 6x1 6 deepi70
51991183 50 | 10 110
51991184 60 | 20 14 | 20 17 17 | M10x1.5 |M 8x1.25 8 deepi135
51991185 65 | 15 220
51991186 80 | 30 19 | 24 | 22 | 22 | M12x1.75 [M10x1.5 10 deep 275
51991187 80 | 15 | 460
51991188 95 | 30 24 | 32 | 27 | 27 | M16x2 M12x1.75 12 deep 555

How To Use

BJ333
Small Screw Jack

Screw
Support

BJ601

SMALL RISER CYLINDERS

|
\e

How To Use

BJ333

Small Screw Jacks

BJ6O1

Small Riser Cylinders

Material: S45C steel TJ
Finish :Black oxide
Part Number| A | B | C | D| E | F W?g)ht Part Number| A | B | C | D| E | F W?g)ht
51991189 | 32 | 44 18 | 45 51991201 | 50 | 69 160
51991190 | 40| 52 55 51991202 | 65| 84 200
51991191 | 50 | 62 70 51991203 | 80 | 99 255
51901192 | 65| 77| ° | 18 MEIB o [Ty 51991204 | 100 | 119 | 22 | 2 |MI2XI75) 30 oo
51991193 | 80 | 92 115 51991205 | 125 | 144 415
51991194 | 100 | 112 145 51991206 | 160 | 179 540
51991195 | 40| 54 23| 85 51991207 | 50 | 74 32 | 280
51991196 50 | 64 105 51991208 65| 89 350
51991197 | 65| 79 145 51991209 | 80 | 104 430
51991198 | 0| oa| /| 20 MIOXIS | os [Tig 51991210 | 100 | 124 | > | 32 [WBR% | 4o [0
51991199 | 100 | 114 230 51991211 | 125 | 149 715
51991212 | 160 | 184 935

14.80 | OML




BJ300 SUPPORT CYLINDERS

®B

P

<
Material:S45C steel
Heat treated
Black oxide finish
Precision ground N
Hardness:RC39 - 45 ’
(G)

For C- Socket-Head Cap Screw

Part Number (i(§01) B C D W&]’?ht
51991723 16 7
51991724 2 58
51991725 2 71
51991726 3 % M8 7 89
51991727 10 110
51991728 50 136
51991729 20 97
51991730 % 120
51991731 32 151
51991732 10 82 M10 S 186
51991733 50 229
51991734 63 287
51991735 20 7 160
51991736 2 200
51991737 5 260
51991738 40 12 330
51991739 50 40 M12 120
51991740 63 530
51991741 80 660
51991742 100 22 840
51991744 25 8 350
51991745 32 390
51991746 40 5 500
51991747 50 5 e 630
51991748 63 810
51991749 80 1,000
51991750 100 3% | 1260
51991751 125 1,600

OML | 14.81




REMOTE-CONTROL UNITS

=
H-Stroke M-Hex. Socket Screw
2 o w <
oK
Material: S45C steel
Finish : Black oxide
L-
[
2777
I LR =
= @)
o
Short
Part Number A B C D E E G H J K
51991752 32 12 22 16 20 30 48 4 12 55
51991753 32 12 27 19.2 20 34 57 4 15 55
51991754 44 16 32 222 30 45 76 5 18 9
51991755 44 16 36 25.2 30 50 86 5 20 9
Work Supports |Weight| Recommended Distance between
ranANumBCr (RN ol BJ 350 (g) | Work Supprt and Remote-Control Unit A
51991752 5 M 6x1  -35L 51991152 75 66
51991753 6 M 8x1.25-40L 51991153 100 81
51991754 8 M10x1.5 -55L 51991154 210 103
51991755 10 M12x1.75-60L 51991155 250 121
Tall
Part Number A B C D E B G H J K
51991756 32 12 26 20 20 30 48 4 12 55
51991757 32 12 33 25.2 20 34 57 4 15 55
51991759 44 16 49 38.2 30 50 86 5 20 9
51991760 44 16 54 43.7 30 50 86 5 20 9
Work Supports|Weight| A:Recommended Distance between
s Mumser || L il BJ 351 (g) | Work Supprt and Remote-Control Unit
51991756 5 M 6x1  -35L 51991156 85 52
51991757 6 M 8x1.25-40L 51991157 115 62
51991759 10 M12x1.75-60L 51991159 310 92
51991760 10 M12x1.75-60L 51991160 335 95

14.82 | OML




BJ730 SWIVEL CONTACT BOLTS

m
_ ] ‘ L . | _
[Body]
Material:S45C steel C
Heat treated (M6&MS sizes)
Black oxide finish A
[Ball]
Material:SUJ2
Heat treated
Part Number | A | B | C | D g |Load gj‘)padty W‘(*ég)ht
51991770 16 7.4 10 9 M 6x1 13,700 12
51991771 21 10.5 13 12 M 8x1.25 25,600 15
51991772 27 12.7 17 16 M10x1.5 40,000 45
51991773 32 15 22 20 M12x1.75 59,400 50
51991774 41 20 27 25 M16x2 96,400 115
Application Example
BJ130
Hook Clamp
BJ730

BJ530

Swivel Contact Bolt

Hook-Clamp Holder

BJ30
Support Cylinder

-Use to clamp from above and/or below a workpiece.

-Ball swivel is not limited.

OML | 14.83




BJ731

TOGGLE PADS

Application Example
D
Knurled Nut BJ210
\ Adjustable Stop
BJ750 7/ O \ BJ731
Knurled Knob Toggle Pad
C
Material:S45C steel
Heat treated (contact surface)
Black oxide finish
Use to distribute clamping pressure to irregular workpiece
surfaces.
Load Capacity (N) | Weight
e B © D E Static | Repeated| (g)
51991775 17 15 13 | M 8x1.25 6 8,000 5,300 18
51991776 25 22 19 | M12x1.75 8 15,900 | 10,600 60
51991777 33 28 24 | M16x2 10 26,700 | 17,800 130

BJ732

CONTACT BOLTS

Application Example

—/
C
D B

Material:SCM435 steel A

Heat treated

Black oxide finish

Heat treated on edge Contact Bolt

Part Number | A B c D E R W'(ag%ht

51991235 30 25 22 7
51991236 40 35 32 10 M 6x1 R15 9
51991237 50 45 42 11
51991238 36 30 27 16
51991239 46 40 37 13 M 8x1.25 R17.5 19
51991240 56 50 47 22
51991241 48 40 37 33
51991242 58 50 47 17 M10x1.5 R20 38
51991243 68 60 57 42
51991244 50 40 35 60
51991245 70 60 55 19 M12x1.75 R30 65
51991246 80 70 65 70
51991247 55 45 40 110
51991248 75 65 60 24 M16x2 R35 125
51991249 85 75 70 135

14.84 | OML




BJ746 SOCKET TOGGLE SCREWS

E -C_
. %77777 .o
\ S
by
Material:S45C steel
Heat treated 5
Black oxide finish ]
Part Number | A B c D E Wf’é‘-;’ht
51991780 43 28
51991781 63 16 9 4 M 8x1.25 37
51991782 83 46
51991783 64 50
51991784 84 20 11 5 M10x1.5 60
51991785 104 70
51991786 65 75
51991787 85 95
51901788 | 105 | > | | & | M7 g,
51991789 130 130
51991790 85 170
51991791 105 190
51991792 0 | 2| § | Mi6e 230
51991793 155 265

CLAMP SCREWS

Material:SCM435 steel \

Heat treated \/
|

Black oxide finish
Hardness:RC33 - 39

Part Number| A | B | C |D|E|F| 6 |R C'amp'(ﬁf"rce A#g:gaﬂe(ﬁ?;ﬁf’ W(eg‘t
51991800 | 50| 40| 37 21
51991801 | 60| 50| 47| 13 |3 | 55 Mext25| R6| 53,000 84 24
51991802 | 70| 60| 57 2
51991803 | 52| 40| 37 38
51991804 | 62| 50| 47| 17 | 35| 75 |Miod5 |R8| 89,000 178 42
51991805 | 72| 60| 57 46
51991806 | 75| 60| 55 70
51991807 | 95| 80| 75 80
21991808 |12 (100 | oo 1 |5 | O |Mi275| R | 100000 240 ”
51991809 | 140 | 125 | 120 115
51991810 | 100 | 80| 75 165
51991811 | 120|100 | 95| 24 | 6 |12 |Miee |Ri2| 130,000 47 185
51991812 | 145 | 125 | 120 215

OML | 14.85




BJ750 KNURLED KNOBS

Material:S45C steel
Finish :Black oxide

¢ A
2D

#C

Part Number | A | B | Cc|D|E|F| @ W?ég)ht
51991819 | 30 | 17 | 20 | 24 | 12 | 7 IM8xi25 | 50
51991820 | 36 | 20 | 28 | 30 | 14 | 8 IMioxi5 | 90
51991821 | 40 | 24 | 32 | 34 | 16 | 10 12175 | 125

14.86 | OML




BJ763 FLAT FEET

Bl Material:S45C steel
Il Heat treated

B Black oxide finish
Bl Precision ground

Il Hardness:RC39 to 45

HG)

=l

},

\F-Flush Bolt

_

A Weight
Code (001 ¢B ¢C D E F (9)
5199 18 67 25 20
5199 18 68 5 30 7.7 30
5199 18 69 35 40
51991870 2% | 4 4 Mex 40
519918 71 10 30 10.7 60
51991872 35 80
51991873 30 60
51991874 10 35 80
519918 75 40 100
51991876 30 194 | 11.3 5 |M8x 1.25 9%
51991877 15 35 115
51991878 40 150
W Application Example
BJ763 Locating Block
Flat Feet /
S N %
\ = Round Pin
" Workpiece 1
I/ ‘
\ \

STy

i
U

T
|
|
|

Precision locator that keeps workpieces machined surfaces out of damage.
The accuracy of a locating block with Flat Feet installed can easily be compensated by regrinding the feet.

OML | 14.87




BJ810 REST PADS

(Ground)

(G)E

A+0.01

(Ground)

Material&finish

(Serrated)
| Steel (S15C)

Carburized-hardened
(Serrated) Black oxide finish
Ground Round Serrated Weight
code code code ARBHCHIDN E E G z (9)
51991870 | 51991860 | 51991881 |125 4 5
51991862 | 51991863 | 51991884 |o5 |1 O3 7 ME1 1127 15 8
51991885 | 51991886 | 51991887 |15 6 9
51991888 | 51991889 | 51991890 |30 |1°| 8|4 [ g | M8x125 | 15 85 g
51991891 | 51991892 | 51991893 |20 9 17
51991804 | 51991895 | 51991896 |40 |/|'0| % [qg | MIOx15 | 196 | 9 35
51901897 | 51991898 | 51991899 |25 11 25
51991900 | 51991901 | 51991002 |50 | 0|12| 6 g | MIX175 | 219 | 128 o)

14.88 | OML




BJ811 SCREW REST BUTTONS

(Ground) | #D $D

| E | |
(Round) T NE T T
(Ground) (Round) (Serrated)
Material&finish
(Serrated) Steel (SUM22L)
Carburized - hardened
Black oxide finish
Ground Round Serrated AlBlclp E £ Weight
code code code (9)
519919 03 519919 04 51991905 10 20 | 17 | 17 |M 8x1.25(19.4| 24
51991906 51991907 51991908 24 20 | 20 | M19x175 952 40
51991909 51991910 51991911 15 | 29 ' | 56

OML | 14.89




BJ812 REST BUTTONS

p
P
-
NP

m
(Ground) #C #C
(G)
AVAVAVA J - |
o A —
S B 2
22l A4 | <
(Round) E /" (Ground) (Round) (Serrated)
Material&finish
(Serrated) Steel (SUM22L)
Carburized-hardened
Black oxide finish
Ground Round Serrated Aleslclbp E E Weight
code code code (9
51991912 51991913 51991914 15 6 23
51991915 51991916 51901017 |25 | | 7 [1g | M &1 184
51991918 51991919 51991920 20 10 52
519919 21 519919 22 51991923 25 15 65
519919 24 51991925 519919 26 30|22 |22 |20 |M12x1.75 | 25.2 77
51991927 51991928 51991929 40 o5 105
51991930 519919 31 51991932 50 135

14.90 | OML




REST BUTTONS

C
@ B &)
, €
I
) | <
) - i - )
B Material: SUM43 steel !
B Heat treated
M Black oxide finish
B Precision ground
B Hardness:RC40 to 45
oA C Weight
Part Number | (- o B | (4= | @D (g)
51991933 5 5
51991934 6 8 10 10 8
51991935 5 12
519919 36 10 20
51991937 8 10 15 16 28
519919 38 20 36
51991939 10 32
51991940 10 12 15 20 45
519919 41 20 58
B Application Example
—I K BJ760
— Rest Button
] W

OML | 14.91



BJ760 SCREW REST PADS

f
Bie=i=

\¢D\

B A C
|

Material&finish

Steel (S45C)
Quenched and tempered
Black oxide finish

Heat treated to Rc33-39
Part Number A B C D E V\I(egig;ht
5190919 42 10 8 6
51991943 20 101 g | M6 13
5199 19 44 15 10 18
51991945 30 13 1 g | M8125 33
519919 46 20 44
1501547 i 17 | 16 | 13 | Mi0x15 =
51091948 25 70
501515 = 19| 20 | 15 | M2x175

14.92 | OML




BJ735 TOGGLE PADS

m Ha i
e )
(Plain) N
X SWIVEL 6° SWIVEL 6° E
(Plain) (Serrated)
Insert Tip
Plain Steel Steel (SCM440) ;
(SCM440) | Quenched and tempere
Black oxide Black oxide finish Carbide
(Serrated) SCIELEE finish Heat treated to Re36-4() Black oxide finish
Load Capacity | Weight
code A B C D E F o o
51991950 15.5
5199 19 51 3 | 14| 12 | 143 Mex1 | 55| 5000 | 9
519919 52 19.5
519919 53 ;7 | 16| 14 16 M8xi25| 7 | 10000 | 13
519919 54 21.5
51991955 18 18 16 19.1 |[M10x1.5 8 13,000 21
5199 19 56 25.5
519919 57 2 21 22 254 [M12x1.75| 9.5 24,000 34
519919 58 28
51991950 | o5 | 24 | 22 | 254 M1&x2 | 11| 38000 | 50
519919 60 33
5199 19 61 29 28 30 31.5 [M20x2.5 13.5 57,000 82

OML | 14.93




SRP / DRP REST PADS

,M. B+0.026 B%1s
G) B (G)
@ _L/D 7
(Steel) S
(Steel) (Plastic)

Type Material & Finish

Steel (SNCM220)
Carburized-hardened

Steel | gjack oxide finish
Heat treated to Rc60
. | Polyacetal plastic
) Plastic| .1 °
(Plastic)
Steel Plastic A . . 5
Part Number Weight (g) Part Number | Weight(g)
519919 62 5 5199 19 68 1 10 10 5 M5x0.8
51991963 8 51991969 2 12 10 5 M5x0.8
519919 64 10 51991970 2 12 12 6.4 |M5x0.8
519919 65 15 51991971 3 16 10 d M6 x1
519919 66 23 51991972 4 20 10 S M6x1
519919 67 37 51991973 7 25 10 o M6 x1
Application Examples
SRP
[1'1] DRP
iy T
D {
N
= |
J [J ( | ) ‘ S
+ Workpiece positioning * Protecting a soft or precision ground workpiece.

14.94 | OML




BER ROUND GRIPPERS, Tapped

Steel (SKH51 )
Quenched and tempered
Black oxide finish
Heat treated to Rc62

Part Number (_;‘13) (_51 ) C D E W(egi]?ht
stwtors | 10 o | 23 M08 o
S A e B sl B e
stssor | | 0 M1 g
ST e B L B
R i B L o

I:ER sQUARE GRIPPERS, Tapped

A
|
D B~ N Material & Finish
Steel (SKH51)
Quenched and tempered
Black oxide finish
Heat treated to Rc62
A B Weight
Part Number 9.) (8.2 C D (g)
51991984 10 10 03 M5x0.8 7
5199 19 85 12 ' x> 75
519919 86 10 10
12 M5x0.
5199 19 87 12 S 508
519919 88 16 10 3 Mox1 17
51991989 10 30
20 3 M5x0.8
51991990 12 33.5
51991991 10 47
2 M6x 1
51991992 > 12 3 b 53

OML | 14.95




ROUND GRIPPERS, C'Bored

Steel (SKH51)

Quenched and tempered

D=For Hex. Black oxide finish

Socket-Head Cap Screw Heat treated to Ro62

A B Weight
e e | e ° (g)
51991993 10 4.5 6
51991994 12 12 6.5 Ma 8
51991995 10 4.5 12
5199 19 96 16 12 6.5 M4 15
51991997 10 3.5 19
51991998 20 12 55 MS 23
51991999 10 2.5 30
519920 00 25 12 45 M6 38
y
A
< N _
D—For Hex. Steel (SKH51)

Socket-Head Cap Screw Quenched and tempered

Black oxide finish

Heat treated to Rc62

A B Weight

S0 N —8.13 ) —8.13 ) < = (g)
5199 20 01 10 45 8
5199 20 02 12 12 6.5 Ma 10
519920 03 16 10 45 M4 16
5199 20 04 10 35 25
519920 05 20 12 55 MS 31
5199 20 06 10 2.5 40
519920 07 25 12 4.5 M6 49

14.96 | OML




ROUND GRIPPERS

Steel (SCM440)
Quenched and tempered

- Black oide fnsh

Heat treated to Rc32

code (7(513) 7(?.13) ¢ D : F EffectiveThre(anLength) W(egig)]ht
L A ey e
s RN ==
T A N S B A e T
somis | 2 o |6 | 99 8 | Mext g
R LI ==

SQUARE GRIPPERS

12515

10.3

5 R R i |y
— | :_l:: ==
| l /
M
A B Weight
code (8. 13) | (Fective Thread Length) (9) Steel (SCM440)
51992018 10 6.5 10 Quenched and tempered
51992019 12 8.5 13 Black oxide finish

Heat treated to Rc32

OML | 14.97



ICETS oGt GRIPPERS, Diamond Serration

A
E—For Hex. Socket-Head Cap Screw
f\—/% (For M6 - W10 thread sizes, use low-head cap sorews)
< |
-— F
| Steel (SKH51)

o T 1] Quenched and tempered

= B m Black oxide finish

I o Heat treated to Rc62

A B Weight

code 3] (3w © | D | E F @
51992020 6 2.8 4
5199 20 21 10 0 | 23 [ 68 | M3 | 16 6
519920 22 6 1.9 4
519920 23 12 10 3 59 M 4 2.3 8
51992024 12 7.9 10
519920 25 6 1.8 8
5199 20 26 16 10 3 5.8 M 6 3.2 14
519920 27 12 7.8 17
51992028 6 0.9 10
51992029 20 10 3 4.9 M 8 3.2 20
51992030 12 6.9 25
519920 31 10 3.4 31

IIEEIEEEI EoGE GRIPPERS, Straight Serration

A
E—For Hex. Socket-Head Cap Screw
f‘ﬁ‘f (For M- VHO thea izes, use low-head cap screws)
{ &
—AF
. ‘ Steel (SKH51)
o ] l | Quenched and tempered
o T Black oxide finish
L Heat treated to Rc62
A B Weight
code 3) 93 C D E F Q)
519920 33 6 2.8 4
5199 20 34 10 o | 2% [ eg | M3 | 16 6
51992035 6 1.9 5
5199 20 36 12 10 3 5.9 M4 2.3 8
51992037 12 7.9 10
519920 38 6 1.8 8
51992039 16 10 3 5.8 M6 3.2 14
51992040 12 7.8 18
519920 41 6 0.9 10
5199 20 42 20 10 3 4.9 M 8 3.2 20
51992043 12 6.9 25
51992044 10 3.4 31
5199 20 45 25 2| ° 54 | MO | 32 Ty

14.98 | OML




RYA (A |35l ANGLE GRIPPERS

519920 46

519920 47

51992048

5199 20 46| Steel (SKH51)
Quenched and tempered
51992047 Black oxide finish
_ 51992048 Heat treated to Rc62
A Steel (SKH51) .
51992050 5199 20 51 51992049 Quenched and tempered Carbide
919920 501 5 i frish E"’?‘Cr:‘ oide
' _ /\ 519920 51 Heat treated to Rc62 s
9’){?’ , ¢ (51992052 Carbide
i 519920 53 Black oxide finish
519920 52 519920 53 5199 20 54 5199 20 54
‘ 14.3-%405‘ M5XO 8 9.5-%.13
) - . _
N o~
, — © o ik | IRV . #i‘:” o 1
NS SIS BN =
5199 20 46 5199 20 47 5199 20 48
MbxQO. 8 9.5%.13
R / T ™ / ) 1l /
X n / N / /
— /\/ — — \'/ i p—— QU ==
. - 60 .
51992049 519920 50 5199 20 51
‘ 14.3-%405‘ M5XO 8 9.5-%.13
)
- o™
%% 0 ~ XXX # 1
- | @ LAl i Lﬂ. _ _ | I 7 - ,\ I i
— lE==2 — L === |- ==
5199 20 52 519920 53 5199 20 54
Part Number e Part Number peri Part Number en
(9) (9) (9)
5199 20 46 1 51992049 12 5199 20 52
51992047 9 519920 50 3 519920 53 20
519920 48 5199 20 51 5199 20 54

OML | 14.99




BN SOCKET SCREW GRIPPERS
‘ A
D C
\e
Weight Material & Finish
code A £ e L E (9) Steel (SKH51)
51 99 20 55 o5 13 Quenched gnd te_m_pered
sigozse | 40 | o | 5 | MO T et nes,
5199 2057 25 16
5199 20 58 0 | ° S 6 (MI2A.75 g
519920 59 25 34
5199 20 60 0 | 2 6 8 |Mi6x2 53
5199 20 61 25 54
5199 20 62 0 | ° 8 10 |M20x25 g,
IS 71PPED SOCKET SCREW GRIPPERS
A
1.27 F D C

Steel (SCM440)
Quenched and tempered
Black oxide finish

Carbide
Black oxide finish

code A B C D E F wﬁgm
5199 20 63 25 15
502064 = 6.4 5 4 23 | Mi0x15 =
5199 20 65 25 21
1502066 = 7.9 6 5 23 | Mi2x1.75 o
5199 20 67 25 37
502068 =aniRIN 8 6 3 M16x2 -
5199 20 69 25 57
1592070 o 127 | 10 8 3 M20x2.5 e

14.100 | OML




IS 11PPED SOCKET SCREW GRIPPERS

HEX-HEAD SCREW GRIPPERS

o8 1.27,| F D N
f% ] f )
% o 4l /]
code A |B|Cc|D|E F il
(9) Steel (SCM440 ) Carbide

51992071 25 29 Quenched and tempered L
5199 20 72 50 | 79 85 |3 | MI2x1.75 3 Black oxide finish | Deckoxide s
51992073 25 37
5199 2074 50 |1 8163 | Mi6x2 77
51992075 25 57
5199 20 76 50 127110 | 8 | 3 M20x2.5 119

C B A
\
F
N A P
2 (@) s —
code A |B |C|D|E F
e > (9)6 Steel (SCM440 )
Quenched and tempered | Carbide
51992078 25 5 10 79|23 M 6x1 8 Black oxide finish Black oxide finish
51992079 12 10 Heat treated to Rc32
51992080 25 64|13 | 953 M 8x1.25 15
5199 20 81 35 17
5199 20 82 29 83|17 [12.73 M10x1.25 20
519920 83 12 25
5199 20 84 29 8317|1273 M10x1.5 27
519920 85 40 36
5199 20 86 29 42
519920 87 40 871191593 M12x1.75 55
5199 20 88 35 88
5199 20 89 50 1 24 11913 M16x2 107
519920 90 40 133
5199 20 91 680 135|130 |254| 23 | M20x2.5 231

OML | 14.101




TSI +HEAD SWIVEL GRIPPER SCREW

-

51992092 - 20 97
(Serrated, Steel Ball

4

51992112-2117
(Plain, Steel Ball)

4

51992132-2137
(Plain, Plastic Ball)

o

51992098 - 21 11
(Serrated, Steel Tip)

4

519921 18-2131
(Plain, Steel Tip)

:

5199 21 38 - 21 51
(Plain, Plastic Tip)

SWIVEL1

WD

0

O
ass

> d

B+

hiE =

0. 1 A

adivy

51 99 2092 -2097
(Serrated, Steel Ball)

51992112-2117
(Plain, Steel Ball)

51992132-2137
(Plain, Plastic Ball)

F-Across 2 Flats

+ _____

:

51992098 - 21 11
(Serrated, Steel Tip)

51992118-21 31

(Plain, Steel Tip)
5199 21 38 - 21 51

(Plain, Plastic Tip)

code

51992092 - 20 97
51992112-2117

Body

519921 32-2137

Ball

Steel (SKH51)

Quenched and tempered
Black oxide finish

Heat treated to Rc60

Tip

Steel(SCM440)

519920 98 - 21 11

Quenched and
tempered

51992118-21 31

Black oxide
finish

5199 21 38 - 21 51

Polyacetal plastic
White

Steel (SKH51)
Quenched and tempered
Black oxide finish

Heat treated to Rc62

Stainless steel/Steel (SNCM220)
(SUS440)  |Carburized-hardened
Black oxide finish
Heat treated to Re60

Polyacetal plastic
White

14.102 1 OML




Serrated (Steel) Plain(Steel) Plain (Plastic) Load Capacit

code Weight(@)|  code Weight()]  code Weight (g) (N)
5199 20 92 7 | 51992112 7 | 51992132 6 |12
519920 93 8 | 51992113 8 | 51992133 7 | 25956 [10M6x1 | - | 5300

51992094 10 51992114 10 51992134 9 |40

519920 95 12 51992115 12 51992135 11 |12

519920 96 18 51992116 18 51992136 16 | 25113 | 8.5[13 M 8x1.25] - 10,900

51992097 22 51992117 22 51992137 21 |40

519920 98 26 51992118 26 51992138 22 |15

51992099 33 51992119 33 51992139 29 [30[17 10 |17|M10x15 | 3|18,400

51992100 43 51992120 43 51992140 39 |50

51992101 55 51992121 55 519921 41 49 | 20

51992102 65 51992122 65 51992142 59 | 40119 12 |19 M12x1.75| 5|24,500

51992103 75 51992123 75 51992143 69 |60

51992104 87 51992124 87 51992144 75 | 25

51992105 117 51992125 117 51992145 105 | 5023 (16 |24 Mi6x2 | 6|43,600

51992106 152 519921 26 152 919921 46 140 | 80

51992107 153 51992127 154 51992147 134 | 30

51992108 205 51992128 206 51992148 186 | 60[24 (20 |30 [M20x25 | 8|57,700

51992109 276 51992129 277 51992149 257 100

51992110 287 51992130 289 51992150 257 | 40

30 |25 |36 M24x3 |10/85,600

51992111 432 519921 31 434 51992151 402 100

Application Example

+ |deal for workpiece positioning and positive holding. + Can also be used as screw jacks.

How To Install Tip
+ Push the ball out of the body and then secure the tip to the ball using the included hex.
socket-head cap screw.

OML | 14.103




SWIVEL GRIPPER SCREWS

5199 21 52 - 21 57
(Serrated, Steel Ball)

51992163 -2168
(Plain, Steel Ball)

5199 21 58 - 21 62
(Serrated, Steel Tip)

SWIVEL10°

D

L
4o

Ls||

51992152 -2157
(Serrated, Steel Ball )

SWIVEL10°

C-Across 2 Flats

=

51992163 - 21 68

(Plain, Steel Ball )

51992174-2179
(Plain, Plastic Ball )

= \

7

4

5199 21 58 - 21 62
(Serrated, Steel Tip )

&8

51992169-2173

(Plain, Steel Tip )

51992180-2184

(Plain, PlasticTip )

51992169-2173
(Plain, Steel Tip)

code

51992152 -2157
51992163 - 21 68

Body

51992174-2179

Ball

Steel (SKH51 )
Quenched and tempered

Black oxide finish
Heat treated to Rc60

Tip

Polyacetal plastic
White

Steel (SCM440
Quenched and tempered 85;3:6 d(airlj(t:ln?plre d)

51992138 - 2162 | Black oxide fnish Black oxide finish
51992174-2179 Ele:; treated to Heat treated to Re62
(PIain, Plastic Ball) ¢ Stainless steel  |Steel(SNCM220)

5199 21 69 - 21 73 (SUS440 ) Carburized-hardened

Black oxide finish
51 99 21 89 " _21 84 Heat treated to Rc60
(Plain, Plastic Tip) Polyacetlplstic
5199 21 80 - 21 84 Y
White
Serrated (Steel) Plain (Steel) Plain (Plastic) allm e 5 Load Capacty
code Weight(@)| code Weight(g)| code Weight (g) (N)

5199 21 52 13 5199 21 63 13 51992174 12 |25
51992153 19 5199 21 64 19 51992175 18 [35| 6 6 | M12x1.75 | 5,300
51992154 28 5199 21 65 28 51992176 27 |50
51992155 26 5199 21 66 26 51992177 25 |25
5199 21 56 39 5199 21 67 39 51992178 38 | 35|85 8| Mibx2 10,900
5199 21 57 58 5199 21 68 58 51992179 57 |50
5199 21 58 57 5199 21 69 57 51992180 53 |30 10
51992159 90 51992170 90 5199 21 81 86 |50110 M20x2.5 | 18,400
5199 21 60 123 51992171 123 5199 21 82 119 |70 8
5199 21 61 113 51992172 113 5199 2183 107 |40
5199 21 62 210 51992173 210 51992184 204 |80 12110 | M24x3 24.500

14.104 | OML




Application Example TBU

- Ideal for workpiece positioning and positive holding.
How To Install Tip

* Push the ball out of the body and then secure the tip to the ball using the included hex. socket-head cap screw.

Application Example BBU

« Grippers for better workpiece positioning methods.

How To Install Tip

+ Push the ball out of the body and then secure the tip to the ball using the included hex. socket-head cap screw.

OML | 14.105




BBU SWIVEL PAD GRIPPERS

SWIVEL 10° D (Effective Length)
\
U - _ = _
S E
1.5

A0.13 519921 94-21 97

51992185-2188  (Plain, SteelBall)
(Serrated, Steel Ball ) 51992203 - 22 06
(Plain, Plastic Ball)

_, D (Effective Length)
51992189-2193 (a7 A

(Serrated, Steel Tip ) ’<<m B
Z m -
o 5199 2198 - 22 02

51992185-2188
(Serrated, Steel Ball )

51992189-2193  (Plain, Steel Tip)
51992194-2197 (Serrated, Steel Tip ) 51992207-22 11
(Plain, Steel Ball) (Plain, Plastic Tip )

519921 98- 2202
(Plain, Steel Tip) Steel (SKH51 )
51992185-2188 Quenched and tempered
51992194-2197 Black oxide finish
Heat treated to Rc60
. Polyacetal plastic
519922 03 - 22 06 White
51992203 - 22 06 \ Steel (SKH51)
. ) Steel (SCM440)
(Plain, Plastic Ball ) 51992189 -2193 | quenched and tempered (Blluenchgdandltempered
lack oxide finish ihoidefri
51992207-22 11 B Heat treated to Re62
Plain, Plastic Ti Stainless steel  |Steel (SNCM220)
(Plai, Plastic Tip 5199 21 98 - 22 02 (SUS440) Carburized-hardened
Black oxide finish
Heat treated to Rc60
. Polyacetal plastic
51992207-22 11 White
Serrated (Steel ) Plain (Steel ) Plain (Plastic) Lo apacy

Part Number | Weight(g) | Part Number | Weight(g) | Part Number | Weight(q)
51992185 6 | 51992194 6 | 51992203 5 [12
5199 21 86 13 51992195 13 519922 04 12 |25
51992187 12 5199 21 96 12 5199 22 05 1 116 .

51992188 21 51992197 21 5199 22 06 20 |25 13]85 9 M 5x08 110900
51992189 31 51992198 31 519922 07 27 1221710 | 7.5M 6x1 18400
51992190 43 51992199 43 519922 08 37 24119 12 | 8.5M 8x1.25[24500
5199 21 91 72 519922 00 73 519922 09 61 282416 | 9 [M10x1.5 43600
51992192 128 519922 01 129 51992210 109 |30 [30[20 | 8.5 M12x1.75(57700
51992193 235 5199 22 02 237 519922 11 205 |36 |36 25 |12 |M12x1.75/85600

14.106 | OML

ABCDE(N)
3

10| 6 ——M 4x0.7 | 5300




TOUCHDEX

Automatic mechanical indexing tables

Description and oy TILTING
operating instructions 3 U /

Page 15
111 TOUCHDEX ) Accessories
@ indexing tables <
Page 15.8
» COMBIDEX

OML1 15.1



TOUCHDEX

Automatic mechanical indexing tables

15.2 | OML



Description and operating instructions

HIGH RIGIDITY AND PRECISION OF THE SYSTEM

TOUCHDEX

4

Exclusive Mechanical clamping
System “LOCKING PIN”

The exclusive TOUCHDEX system provides a clamping force 2 to 3 times that an ordinary index table thus allowing

heavy machining.

TOUCHDEX

CNC System

Traditional braking jaws system

Example Face Milling Drilling Drilling
H !
Machining & =
S45C 200
Material
A 80 Face mill A 35 Drill A 20 Drill
FD-200 3 mm (depth of cut) ; 30 mm/min (Feedrate)
130 mm/min (Feedrate) 20 mmy/min (Feedrate) H =80 mm
A 80 Face mill A 40 Drill A 25 Drill
FD-300 3 mm (depth of cut) . 30 mm/min (Feedrate)
130 mm/min (Feedrate) 20 mm/min (Feedrate) H=90mm
HIGH PRECISION
& ? ¢ Indexing accuracy of less than 30"
B * Repeat accuracy * 3"
0,015 mm
Max. differences
bet. Aand B
(finishing cut) The unique clamping system ensures high accuracy
despite locking pin wear, and with 0 backlash
for the life of the unit (see example)

OMLI 15.3




TOUCHDEX Description and operating instructions

VERSATILITY OF THE SYSTEM
=

® Minimum space required

Since it has no motorized part, it can be
installed in a minimum amount of space

} .

® Versatility

Since it has no electric or pneumatic
connections, it can be installed

onh MULTI-PALLET machining centers
either vertical or horizontal with the
possibility to create flexible
production systems

15.4 | OML

As a power control cable is not required
the displacement from a machining center
to another one is very easy



Description and operating instructions TOUCHDEX

VARIETY OF TOUCHDEX MODELS AVAILABLE

FDR
Indexing and rotation in TWO directions

- Left pushbar for counterclockwise
- Right pushbar for clockwise

FDM
With the adaption for the installation either
in horizontal or in vertical

FD - ... - 360

1 deg. Indexing ideal for workpieces of complex
shape

FD-...-04

90 deg. Indexing rotation per stroke. Pressing the
pushbar down one rotate the table by 90 deg. Ideal
90° for square workpieces

TILTING 230-150

Five-face machining. Integrates FDR-230

and FDM-150 for five-face machining on vertical
machining centers

COMBIDEX
Integrates subplate and plate for workholding
applications

OML| 15.5




15.6 | OML

TOUCHDEX

Description and operating instructions

WORKING

Index calibrations Head adapter

Eye bolt for

nanding Pushbar
u

Angle reference

positon =~ —————", .
53

Faceplate \

_ Back plate
Base plate

\ &

\

Brether

INTERNAL MECHANISM

Pushbar
Faceplate
T
3/ Lock pin
Feed gear T~ o
Positioning
gear

1 Wen the pushbar is pressed down a little,
the lock pin retracts due to a grooved
cam mechanism.

2 When pressed down further, the faceplate
begins to rotate.

3 The pushbar returns, but until a certain
position is reached the faceplate and the
lock pin continue to be as they were.

4 When the pushbar reaches the top most
position, the lock pin engages with the
positioning gear and fixes the table.




Description and operating instructions TOUCHDEX

PROGRAMMING

* POSITION A Using handle mode. * POSITION B Using handle mode.

4

x0.001 #0.001

@w&ﬂl -
l *0,1 l

*0.0] <
*0.1

¢

Adjust the indexing as accurately
as your eyes can master.

A

{ Do not rotate —
the tool! s

Reference

Move the tool over the pushbar, using manual mode. Reading the scales

on the side of the table,

move the Z axis with manual handle mode until
the indexing is completed.

X O00 004
i . Y: oop.ooo
Read and memory Z axis Read and memory Z axis 7 0
number. number.
0opoo
PROGRAM INFORMATION
Home Regarding the push-in tool
position - Providing the drill is @ 10 mm or wider and
no bending is caused during the pushing
Fast feed down, the tool you are using
Machining is appropriate.
feed F 1000
Fast feed If a tool with a sharp tip is used, it will

badly wear down the resin and the
Fast feed resin will have to be replaced.

Position The main shaft cover can also
B* be used to push down. :

4

OML| 15.7




TOUCHDEX Indexing tables

Code Type Indexing angles Pushbar Stroke
Min® Max ° mm
519913 20 FDK-450 5° 45° 93

FDK-450 _ O__§ New
/ k' LARGEST
TOUCHDEX

Table Dia 450mm

Large Center Hole Secured

w Center Hole:  120mm

Standard equipment with a Brake Ring Function A manual indexing unit (MH-6) is supplied as standard accessory

Brake Ring Function. This function suppresses a decrease in clamping force ~ With a lock cancelation function
during indexing by continuously applying a constant friction force to the table.
This function can respond to more unbalanced workpieces / jigs

Manual Unit MH-6
(stroke: 15mm)

Type FDK-450
Table Diameter mm 450
Center Heigh mm 250
X X 450

Splndle Bore Diameter mm 120 6-M12 PCD355 < 2 161 >
Table indexing angles at b
full pushbar stroke deg. 45 2 6COR10
Min. indexing angles deg. 5 3-M10PCD1906

3-MI0PCDI72
Approx. Full pushbar stroke mm 93
Approx. pushbar load N 1960

kgfl (2001 o o

Loadings ka 450
Allowable Unbalanced weight kg 40
(differences in load at table periphery) Q
Allowable load N-m 4560 Yy
(Table clamped) [kgf-ml [465]
Accuracy sec 30
Repeatability sec +3
Weight kg 214

15.8 | OML




Indexing tables TOUCHDEX

Code Type Indexing angles Pushbar Stroke
Min® Max ° mm
5199 13 59 FD-107 15° 45° 24

New.
-

SMALLEST
TOUCHDEX

Table Dia 107mm

Light-weight Compact
Weight: 13kg
Table indexing angles at full pushbar stroke: 45 deg.

Min. indexing angles: 15 deg.

The detachable base plate
diversifies mounting ways

Type FD-107

Table Diameter mm 107
Center Heigh mm 120 03 o " 295
Spindle Bore Diameter mm 15.3% 327 _ 4-MT0 10| e ’HTW
Table indexing angles at = | o
full pushbar stroke deg. 45 = 4 = 5 is @f
Min. indexing angles deg. 15 w . € Jéf s l)
Approx. Full pushbar stroke mm 24 S ) {ﬁ | & N, B %ﬂ?
Approx. pushbar load N 295 |3z | la | o |4 % /ﬁg@

tkafl (301 a —— & LD
Loadings kg 20 =
Allowable Unbalanced weight kg 4 -
(differences in load at table periphery) . . M
Allowable load Nm | 196 = L] i -
(Table clamped) [kgf-ml [20] 535 j'E 16 o

140 3 -

Accuracy sec 60 s
Repeatability sec +3
Weight kg 13

OMLI 15.9




TOUCH DEX Indexing tables
TOLERANCES
Inspecting item Tollerances AL I EEL L
pecting Method (FD) Method (FDM)
Table Center Hole s
.01 mm 2 :
Run-out 0.01 It | Dl
Table Surface Run-out ~o=a d
(15 mm inside 0.01 mm 3 L )Huz
table periphery) =) 1l
Table Surface Squareness ~ =4 (r—d
(15 mm inside 0.03 mm 1 | Hn:
table periphery) o) i b
SPECIFICATIONS
Type FDM-150 FDMK-150-04 FD-200-04
Table diameter mm 170 170 210
Spindle bore diameter mm 37 37 16.5
Center height mm 120 120 135
Table indexing anglesat full 45 0 90
pushbar stroke gradi
Min. indexing angles gradi 5 5 5
Full pushbar stroke mm 38 53 78
Approx. pushbar load N 295 392 784
Ikgfl [30] [40] [80]
. W
Loadings | vertical - 200 200 250
kg
h tal
orizontal [ [" 300 300 -
use .| kg
Allowable Wi - W2
unbalanced Wi W2
weight l:j 4 20 4
2t table periphery kg
Allowable FxL ﬁ/F N/m 588 588 1030
load [60] [60] [105]
(Table clamped) “-ﬁ lkgf/mi
Accuracy sec 30 30 30
Ripeatability sec 13 13 +3
Weight kg 30 37 38

15.10 | OML




Indexing tables TOUCH DEX

Code Type Indexing Angles Pushbar Stroke A
Min ° Max ° mm mm
519913 01 FDM-150 5° 45° 38 127
3-M8 PCD 115 8-M10 PCD 147
g} jl 151 6-M5 PCD 897 55
)z,‘!-. . '\g A
| E3 S | 5 P
& 5 -
62 N
= 151 . T m
" Y 100
200
Code Type Indexing Angles |Pushbar Stroke A
Min ° Max ° mm mm
5199 13 16 FDMK-150-04 5° 90° 53 163
151
= 35 8-M10 PCD 147
’::‘ B 6-M5 PCD 89.72
o 8 gg | s i 3-M8 PCD 115
H 3 S
CHESE
20 110 20~
222
Code Type Indexing Angles |Pushbar Stroke A
Min ° Max ° mm mm
5199 13 02 FD-200-04 5° 90° 78 208
20 51 9 %
j 8-M10 PCD172 :
l 3-M10 PCD147 ;
;m © 3-M8 P ey A
< g PCDB8 Y 5/ /AB At o
Rl ® ______ : g = /’(\7ﬁ })/\T{\ 3
A e f} - g - ?\‘\@/‘ 7\%?’ .
62 analy ul
\‘::_g:/’/ 1‘2
[ i _
13016 130
215 260

OML | 15.11




TOUCHDEX Indexing tables

TOLERANCES
. . Measurement Measurement
Inspectmg item Tollerances Method (ED) Method (FDM)
Table Center Hole Iy
0.01 mm , i '
Run-out J | 2l
Table Surface Run-out ~o=a d
(15 mm inside 0.01 mm 3 |' < )IL
table periphery) | =1k
Table Surface Squareness ~ =4 (5<—¢
(15 mm inside 0.03 mm 1 | Huz
table periphery) o) i b
SPECIFICATIONS
Type FDM-230 FDM |FDR-230| FDR | FD-300 | FD FDMK | FDMK
230-360 230-360 300-360 340 340-360
Table Diameter mm | 230 230 230 230 310 310 340 340
Spindie Bore Diameter mm 58 58 58 58 52 52 100 100
Center Height mm | 145 145 145 145 185 185 200 200
Table Indexing Angles 45 45 45 45 45 45 45 45
at Full Pushbar Stroke deg.
Min. Indexing Angles deg. 5 1 5 1 5 1 5 1
Full Pushbar Stroke mm 56 56 56 56 75 75 83 83
Approx. Pushbar Load N [ 784 784 1470 1470 1078 1078 1764 1764
[kof] [801 [801 [1501 [1501] 1101 1101 [1801 [1801
q W
- V I ]
Loadings ertica 250 250 250 250 350 350 350 350
use - kg
Horizontal W
Vi 350 350 350 350 500 500 500 500
use 1 ke
ﬁll%wlable ; Wi-we W
nbalance
weight %% 4 4 20 20 4 4 20 20
(differences in load
at table periphery) kg
Allowable FXL L
load Ve Nm | 1127 1127 1127 1127 2280 2280 2280 2280
(Table clamped) [kgf/ml [115] [115] [115] [115] [232.5] [232.5] [233] [233]
Accuracy sec 30 30 30 30 30 30 30 30
Repeatability sec +3 +3 +3 +3 +3 +3 +3 +3
Weight kg 42 42 48 48 80 80 98 98

15.12 | OML




Indexing tables

TOUCHDEX

Code Model Indexing Angles Pushbar Stroke A
Min Max mm mm
519913 04 FDM-230 5° 45° 56 198
5199 13 05 FDM-230-360 1° 45° 56 198
166.5
65__ 1015 | 107060
CT, 3:M10 PODIAT
°I’ 3-M8 PCD8S
[=1] /.20 AN
i SIS S
Fs’l |§ 2| \
off | & Q o
|12 i PCD190.6
5 S 3-M12
l PCD210
= d
114 |455) 3
Code Model Indexing Angles Pushbar Stroke A
Min Max mm mm
5199 13 06 FDR-230 5° 45° 56 198
5199 13 60 FDR-230-360 1° 45° 56 198
8-M10 PCD172
1665 3-M10 PCD147
65 101.5
i !
i
6 i\ //;2 3R N <
S =) e o s \ e AT
1 e g @l i N .\A\\{\y PCD190.6
© S RS m[ W\
z " « A B 32
S T PCD210
i I
T6.3011 3-M8 | &
114 45.3]|.3 PCD8S|
Code Model Indexing Angles Pushbar Stroke A
Min Max mm mm
5199 13 07 FD-300 5° 45° 75 233
5199 13 08 FD-300-360 1° 45° 75 233
1765 6-M12 PCD285
58__ 1185 3-M12 PCD250
= 3-M12 ‘
A
] |
J 18 g\
.t66__Jis «—160:%;164——(“
Code Model Indexing Angles Pushbar Stroke A
Min Max mm mm
51991318 FDMK-340 5° 45° 83 240,5
51991319 FDMK-340-360 1° 45° 83 240,5
209,5
90,8 1187

L
o
N
N
|©} n
° )
S X g
N <
v&
|
— o
8 &

M12-6-PCDg285
M12-3-PCD@250
M12-3-PCDg210
M10-6-PCDg172

OML | 15.13




COMBIDEX Indexing tables

Code Model Indexing Angles |Pushbar Stroke A
Min Max mm mm
519913 11 FDV-201-04 5° 90° 78 208
7
O
/ ‘*170*‘ | 355 | 208
| 10 = — |
e
20 |
‘ 2804-‘ ‘ 595
Code Model Indexing Angles |Pushbar Stroke A
Min Max mm mm
519913 12 FDV-301 5° 45° 75 233
s
O
/ ‘*250“ 430 ‘ 233
] 30 - - - |
o\ | ‘
w2 FD300  —{ 225
25 [ l
348 694
With SC square chuck

With clamping
devices

With TC-t clamping
system

15.14 | OML




TILTING

Code

519913 13

type

TL 230-150

Code

519913 14

type

TL 340-230

Integrates FDR-230 and FDM-150 +
FDR-340 and FDM-230
for five-face machining on vertical

machining centers.

. Table inclination and rotation adjusted

automatically

with the pushbar of TOUCHDEX.
« Minimum indexing angle in both inclination and

rotation of 5-.

« Extremely compact footprint - 450 x 260 mm.

110

Max Load |60 kgem
4495 g

Specifications TL 230-150 TL 340-230
Table Diameter mm 170 230
Spindle Bore Diameter mm 37 58
Center Height 200
(90° Tilted) g m 145
Table surface height mm 200 265
(0 deg. tilted)
Full Pushbar Stroke mm
(Tilting) 56 83
Full Pushbar Stroke
(Rotation " 38 56
N
- 1470 1764
. Til
Approx. Pushbar LoadTilting) [kaf] [150] [180]
- N 295 1470
Approx. Pushbar LoadRotation) [kaf] [30] [150]
Loadings kg
(0° to 90°) W
,,,,,, 70 100
Allowable load | FxL
(Table clamped) < L; Nem 1127 1960
F kgt-m] [115] [200]
FxL
L. Nm 625 1.127 1
,F, [kgf-m] [63.8] [115]
==
Accuracy (Tilting) sec 30 30
Accuracy (Rotation)  sec 30 30 p g
Repeatability (Titing) ~ sec 43 +3 B
Repeatability (Rotation)  sec +3 +3 s
Weight kg 98 215 e
o
o

% A counterweight may be required for balance when machining
bar-shaped
workpieces etc mounted significantly off-center on the TOUCHDEX.

(600)
120
(145)
2170
(Q2F0)
!
-

—

@]

JEES
iE

i

—

[l e

=1

OML | 15.15




TOUCHDEX Accessories

266

TAIL STOCK TK3 - 60 146

i
%A?
/N

é D

D

iy

= [ [ 1
] )
L7 | 170 |
120 —

Code type A (mm)
519913 21 TK-3 120 - 145
5199 13 22 TK-3 HI 160 - 185

50 30 17
END SUPPORT .
Al sg (B 35

25 4]
|

g
2

2-014
<
[T st Hi
18] 15 15
15 130 15
160
o Code type A (mm)
)
3 5199 13 23 FES-120 120
“. 5199 13 24 FES-135 135
< {gr >
g 5199 13 25 FES-145 145
5199 13 26 FES-175 175
5199 13 27 FES-185 185
5199 13 28 FES-200 200

MANUAL HANDLE MH-3

MH-1 MH-5
Code type stroke @3?@
11
5199 13 30 MH-1 35 i Aose
I
5199 13 31 MH-2 88 /'
5199 13 32 MH-3 38 r 95@,,
s | ‘
= Iy
5199 15 48 MH-5 95 ==
%252——‘

15.16 | OML




Accessories TO UCH D Ex

Type Tailstok Manual handle End support
FDM-150 TK-3 MH-3 FES-120
FDR-150-04 (MK) TK-3 MH-2 FES-120
FD (M)-200 (-360) TK-3 MH-1 FES-135
FD (M)-200-04 TK-3 MH-2 FES-135
FD (M,R)-230 (-360) (MK) TK-3 MH-2 FES-145
FDR-230-04 (-360) (MK) TK-3-HI MH-2 FES-175
FDM-300 TK-3-HI MH-2 FES-185
FDMK-340 (-360) | = ==e==eeeee. MH-5 FES-200
FDK-450 | ==eeeeeeees MH-6 = | = =e=eeeeeee

Code
10731223 Cartridge 500 9 Grease K67
10731224 Can 1000 g Grease K67

Code

';,H{I._-'L - l/!* 08 37 26

Codice for type for chuck D (mm)
519913 41 FDM-150 SGSF 160-42 170
FD-200-04 / FD-200-360 210
51991342 | L\ 230/ FDM-230-360 / FDR-230 SGSF 200-55
FD-300 / FD-300-360
51991345 | ppmk-340 / FOMK-340-360 SGSF 315-103 310
5199 13 47 FDK-450 SGSF 400-136 450
Code mm
5199 13 51 16 x14
5199 13 52 16 X 16
51991353 16 x 18
519913 54 18 x 14
51991355 18 X 16
5199 13 56 18 x 18

OML | 15.17




Accessories

TOUCHDEX

SGSF MANUAL CHUCK (frontal mounting)

SMW self-centering manual chuck, steel body

G
=
— 3
-
O
L
™M
O
<oz O | .
Q 9 g & G1
@)
S
= ]
LR
T
ELL |
% Q
. F
!
M max
Code 33031216 33031220 330312 31 33031240
Chuck SGSF 160-42 SGSF 200-55 SGSF 315-103 SGSF 400-136
Attachement DIN 6350 Dim. FL125 FL160 FL260 FL330
A mm 160 200 315 400
B mm 140 176 286 362
H6 Cmm 125 160 260 330
D mm 42 55 103 136
E mm q q 5 5
Fmm 68 78 96,2 108
G mm 53 54 73 92
G1mm 32 29 a1 55
G2 mm 20 25 32 36
L mm 70 85 125 145
Front mounting M1 mm 3xM10 3xM10 3xM16 3xM16
Q mm 1 1 14 17
a° 102° 42° 42° 45°
Max speed giri/min. 4500 4000 2800 2000
Torque M max Nem 120 160 200 280
Weight (w. jaws) kg 1,2 20 50 90
Moment of inertia kgm? 0,03 0,10 0,60 1,80

15.18 | OML




Accessories

TOUCHDEX

T T
> >
)
[
B R O I R 22} B L
Q| Q9 Qy Q| «
]
ET =
Chuck SGSF 160-42 SGSF 200-55 SGSF 315-103 SGSF 400-136
Suggested clamping diameters at max. clamping force
B mm 19-56 22-75 58-115 77-162
G mm 64-101 78-130 129-199 169-254
Hmm 113-150 146-198 226-296 295-380
Monoblock jaws cmm 57-94 68-121 128-184 149-234
E mm 109-146 136-189 212-281 275-360
Y mm o] 4 9 16
M mm 18 22 25 26
Min. clamping diameters with clamping force reduced by 40%
3 4q 10 10
No. of scroll teeth 2 3 5 5
No. of meshing S_CI"O" teets 2 3 5
for safety clamping 5
® For max. speed and max. clamping, all teeth shall be meshing.
® For meshing teeth control towards outside dimension (M) toward inside dimension (Y).
® For features exceeding these limits +16 mm on diameter, shall be reduced by 25%.
® ATTENTION: CLAMPING DIAMETERS HAVE BEEN CALCULATED WITH A.M. MESHING TEETH.
Chuck SGSF 160-42 SGSF 200-55 SGSF 315-103 SGSF 400-136
Accessories Codici
Set-3 GRC 03 65 16 30 03 65 20 30 03 65 31 30 03 65 40 30
Set-3 Soft jaws | 03 60 16 30 03 60 20 30 03 60 31 30 03 60 40 30
Set-3 ins. jaws Dx % 03 55 16 30 03 55 20 30 03 55 31 30 03 55 40 30
Set-3 ins. jaws Sx % 03 56 16 30 03 56 20 30 03 56 31 30 0356 40 30
Set-3 Rev. jaws @Iﬂ] 03 63 16 30 03 63 20 30 03 63 31 30 03 63 40 30
Key E‘E@?‘E’ 02 71 17 00 02713100 02 7140 00

OML | 15.19




TOUCHDEX Work examples

LT

] ,ﬂuufnuuﬁ o il

s |

The example shows:
® TOUCHDEX table

® Column CIVI 2000 (General catalogue OML group 6)

® Moveable jaws set CIVI 2000 (General catalogue OML group 6)

The example shows:

® TOUCHDEX table with manual chuck

15.20 | OML










Technical characteristics and dimensions are not obliged. OML S.r.I. may give in every time some modifications.



MODULAR CLAMPING SYSTEMS

CODE 10 70 58 24 - printed July 2019

SMW* Via Cristoforo Colombo, 5 - 27020 Travaco Siccomario (PV) - ITALY

(((‘A OFFICINA MECCANICA LOMBARDA S.r.l.
SAUTOBLOK Tel. +39 0382 55 96 13 - Fax +39 0382 55 99 42

email: omlspa@omlspa.it - www.omlspa.it




